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Ministry of Education and Higher Learning
Medicine Colloquium Exam - First Session 2012

IMPORTANT INSTRUCTIONS

Each candidate should read this page before answering the
questions. The candidate should follow the directions below :

1- Write clearly your FIRST and FAMILY NAME and APPLICANT
NUMBER with ink (pen) in the designated space (colored square).

2-  Please use the pencil ONLY.

3- Do not use any pen (like bic} or ink.

4-  Completely Fill the answer squares using pencil only.

5-  Only ONE answer is allowed to each question.

6-  Avoid erasing as much as you can.

7- When needed, do erase the cancelled answer COMPLETELY.

8- You may use the guestion bookle as scratch, and make sure to
return it with the answer sheet at the end of the exam.
9-  On the answer sheet, you should fill up the square corresponding to

the right answer, in pencil only. No writing allowed at all.
10-  Keep your answer sheet clean and tidy, do not fold or tear it.
11-  The duration of the exam is THREE HOURS.
12-  The composition consists of 180 QUESTIONS.

Important Note :
Any square filled up with a pen or ink cannot be read by the machine. It
reads answers filled up in PENCIL only.

Thank You
&
Good Luck



Ministére de ’Education et de I'Enseignement Supérieur
Examen Colloquium Medecine — Premiére Session 2012

INSTRUCTIONS IMPORTANTES

Le Candidat doit lire ces instructions avant de commencer a

répondre aux questions et devra observer les directives suivantes :

10-
11-
12-

Ecrire son PRENOM et NOM et son NUMERO D'EXAMEN a
l'encre et de facgon lisible a 'endroit indiqué (coin en couleur)
Utiliser UNIQUEMENT un crayon mine.

Ne pas utiliser de stylo a encre ou a bille (encre seche).

Remplir, sur la fiche de réponse, tout le carré au complet, sans
sortir de lignes.

Chaque question qui comporte PLUS D'UNE réponse, est

annulée.

Essayer d'éviter, autant que possible, d'effacer.

Dans des cas particulier, il faut TRES BIEN effacer la reponse
que vous voulez changer.

Pour éviter les erreurs, vous pouvez utiliser la feuille de

questions comme brouillon, bien que vous devez la rendre, a la
fin de l'épreuve.

Interdiction formelle d'écrire quoique ce soit sur la feuille de
reponse en dehors des carrés.

Bien conserver la feuille de réponse ; elle ne doit pas étre froissée.
La durée de l'examen est de TROIS HEURES.

La composition comprend 180 QUESTIONS.

Remarque :

Chaque carré rempli d'encre ou de toute couleur autre que la mine, ne
sera pas compté car la machine qui lit les réponses ne peut capter que le
signal envoye par le carré rempli de MINE.

Merci
&
Bonne Chance



Tbe most appropriate test to screen for late-onset male
hypogonadism is

A) free testosterone

B) total testosterone

C)LH

D) FSH

Le test de dépistage le plus approprié pour I"hypogonadisme
masculin tardif est :

A) la testostérone libre

B) la testostérone totale

Aol i g el s 40 paad 2aia VI Gl )
o Sl ke Toa e il Al

ol Gy il -A

Jal&ll 5 il -B

LH -C

FSH -D

A. Atopic dermatitis

B. Repeated bronchiolitis
C. Prematunty

D. Hypereosinophilia

E. Male gender

Toutes les propositions suivantes sont des facteurs de risque
d'asthme, sauf:

A. La dermatite atopique

B. Bronchiolite a répétition

C. La prématurité

D. Hypercosinophilie

E. Sexe mile

C)LH
D) la FSH

2 Which one of the following is contraindicated in the second g P il B ki Sas g M e g
and third trimesters of pregnancy? § Jaslt e
A) Amoxicillin _ \
B) Azithromyein (Zithromax) CllnguS sal -A
C) Ceftriaxone (Rocephin) Opde s 5350 -B
D) Ciprofloxacin (Cipro) Sl Jiaw -C
E) Doxycycline i e <D
Lequel des medicaments suivants, est contre-indiqué dans le Sy -
deuxiéme et troisiéme trimestre de la grossesse?
A) Amoxicilline
B} L'azithromycine (Zithromax)
C) La ceftriaxone (Rocephin)
Dj) La ciprofloxacine (Cipre)
E) La doxycycline

3 All the followings are risk factors for asthma except one: oo Lo gl Hhi Jalge o Jble S

ol aladl el LA
DSk Gyl il -B
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4 T A 30-year-old previously healthy man complains of a il e S8 Gam favay lle ¥ooo jan dan g
chronic, intensely pruritic vesicular rash.He gives a 1-year . P TR I .

history of frequentpabdominal pain, nonbloogy diarrhea, and e JAJ_‘W el 3 O “m“"'sa e

a 10 kg weight loss. He has no history of travel, antibiotic O G8Y ]y (edn f T ¢ s (gl ol Con

use, or consumption of well water. sl ol b (5 gm Shias atdin oDy il ad 43 ),

The most likely cause of his symptoms is R PVCR VLU (RN TN I W W

A) lactose intolerance . -

B) irritable bowel syndrome J58Y dead o= -A

C) collagenous colitis gusiadl 050 4530 -B

D) celiac disease Y S Ot il -C

E) Crohn’s disease ibsels <D

Un homme de 30 ans auparavant en bonne santé se plaint rasSels B

d'une éruption prurigineuse vésiculaire intense et chronique.

Il donne une histoire de 1 an de douleurs abdominales

fréquentes, de la diarthée non sanglante et une perte de 10 kg

de poids. 1l n'a pas d'antécédents de voyage, d’utilisation

d'antibiotiques, ou consommation de l'eau de puits.

La cause la plus probable de ses symptomes est

A) l'intolérance au lactose

B) Le syndrome du cblon irritable

C) la colite collagéne

D) la maladie coeliaque

E) La maladie de Crohn

5 Al! the_ following are critical features in accidental drug sl panll Ala 3 il atyk o b e ds
polsoning except 0n-8: o 1o La guia el
A. Decreased consciousness and respiration ) L
B. Convulsions il o M 3 gl A
C. Cardiac arrhythmia cladasl -B
D. Hyperthermia il Y -C
E. Vomiting $sabs D
Tout ce qui suit sont des caractéristiques essentielles dune e -E
intoxication médicamenteuse accidentelle, sauf une:
A. Diminution de la conscience et de la respiration
B. Convulsions

C. Arythmie cardiaque

D. Hyperthermie

E. Vomissements




Patients with rheumatoid arthritis should be screened for
tuberculosis before starting which one of the following
medications?

A) Gold

B) Hydroxychloroquine

C) Infliximab

D) Methotrexate

E) Sulfasalazine

Les patients atteints de polyarthrite rhumatoide doivent étre
dépistés pour la tuberculose avant de commencer lequel des
médicaments suivants?

A)Or

B) L'hydroxychloroquine

C) L'infliximab

D) Le méthotrexate

E) La sulfasalazine

Sl o G gitag (oo et Judl gand el pal g
A 4V e 5 el O (g ) Jealia
el -A
pSeo5S puSyae B
Slanllit -C
S igise =D
il -

Methotrexate given intrathecally causes neurotoxicity acutely
manifested as which of the following syndromes?
Ototoxicity

Axonal peripheral neuropathy

Myopathy

Aseptic meningitis

Encephalopathy

moOw

La méthotrexate administrée par voie intrathécale cause une
neurotoxicité aigué manifestée par lequel des syndromes
suivants?

A. ototoxicité

B. neuropathie périphérique axonale

C. myopathie

D. La méningite aseptique

E.Encéphalopathie

Bla Kpans Catens ool JA03 il i gigall eldac] ()
ANl e A e g A ek

igand] aadl A

$ o3 s guac JHet -B

ghae et -C
Al Yol Qs D
giled daet -E

The breast-fed infant of a mother who is a strict vegan may
experience deficiency of which of the following vitamins if
the mother is not receiving supplements of the vitamin?

A K

B.B6

C.Bl12

D. Folate

E. Biotin

Le nouveau-né allaité d'une mere qui est une végétarienne
stricte peut éprouver un déficit vitaminique si la meére ne
regoit pas de suppléments de la vitamine?

A K

B. B6

C.B12

D. folate

E. biotine

Gl 1Y Al el (e 51 b e A Ziaay
$ el il 138 (e i L Y 45l

K -A
B6 -B
B12 -C
oY D
ubse -E




The ability to walk along a straight line touching the heel of
one foot to the toe of the other is most often impaired with
A. Cerebellar dysfunction
B. Parietal lobe damage
C. Temporal lobe damage
D. Ocular motor disturbances
E. Dysesthesias in the feet

La capacité de marcher le long d'une ligne droite en touchant
le talon d'un pied a l'orteil de l'autre est le plus souvent
altérée avec

A. Dysfonction cérébelleuse

B. Atteinte du lobe pariétal

C. Atteinte du lobe temporal

D. Perturbations occulomotrices

E. Dysesthésies dans les pieds

Gl qlic el y aadins Jady gl e 55N o
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A 6B-year-old woman with primary hypothyroidism is taking
levothyroxine, 125 ng/day. Her TSH level is 0.2 pU/mL (N
0.5-5.G). She has no symptoms of either hypothyroidism or
hyperthyroidism.

Which one of the following would be most appropriate at
this point?

A) Continuing levothyroxine at the same dosage

B) Increasing the levothyroxine dosage

C) Decreasing the levothyroxine dosage

D) Discontinuing levothyroxine

E) Ordering a free T4

Une femme de 68 ans avee hypothyroidie primaire prend de
la lévothyroxine, 125 ug / jour. Son taux de TSH est de 0,2
ul/mL (N 0,5 2 5,0). Elle n'a pas de symptomes
d*hypothyroidie ou hyperthyroidie.

Lequel des éléments suivants serait le plus approprié a ce
stade?

A) Continuer la lévothyroxine 4 la méme posologie

B) L'augmentation de la dose de 1évothyroxine

C) La diminution de la dose de lévothyroxine

D) L'arrét de la 1évothyroxine

E) La commande d'un T4 libre

i 30 ]l el (e Al Lle VA W s 6 pal
=TSH (5 sinse pp3f3Sa YO (g y 5 gid Uiy
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Which one of the following statement about absolute
contraindications to electroconvulsive therapy (ECT) is
correct?

A) Age >80 years

B) A cardiac pacemaker

C) An implantable cardioverter-defibrllator

D) Pregnancy

E) There are no absolute contraindications to ECT

Laquelle des énoncés suivantes est vraie au sujet des contre-
indications absolues a la thérapie par électrochocs?

A) Un age> 80 ans

B) Un stimulateur cardiaque

C) Un défibrillateur & synchronisation automatique
implantable

D) Grossesse

E) Il n'y a pas de contre-indications absolues a 1'electrochoc

Glha Cldaial sbins Jga s o 0N e ()
T e maladlls dallaall
Lie Av e 8l jes <A
il B
g fa Mg b i dyma -C
deall -ID
islaall glae ki sliae s ! -F
it eSll aladlly

A. Cardiac involvement
B. Arthritis

C. Nephritis

D. Pancreatitis

E. Meningitis

Chez les enfants la complication la plus fréquente des
oreillons est la suivante:

A. L’atteinte cardiaque

B. L’arthrite

C. La néphrite

D. La pancréatite

E.La méningite

12 | A 36-y;ar-§ldhwot[:1aq presents wli_thla tv.k;o da{J hishtoll(-y okf e dhe 20 plaa e S8 Lale T L e 3l
severe headache that improves a little when she shakes her . . et e e
head. Which type of healiiache may she have? Telglaallong st LGJJ‘ )QJ m el
A. Common migraine g ghmiglia -A
B. Muscle tension hae 24 -B
C. Classic migraine S i plaa -C
D. Cluster sasiie glaa D
E. Hypertensive hivaplisy -E

Une femme de 36 ans se présente avec une histoire de maux

de téte violents depuis deux jours qui s’améliorent un peu

quand elle secoue la téte. Quel type de maux de téte peut-elle

avoir?

A. Migraine commune

B. La tension musculaire

C. Migraine classique

D. Cluster

E. Hypertension

13 | In children the most common complication of mumps is: TVt an Jubi sic logud SEYY Clie Ll
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A 55-year-old hypertensive man develops sudden onset of
excruciating pain beginning in the anterior chest, and then
radiating to the back. Over the next 2 hours, the pain moves
downward toward the abdomen. The most likely diagnosis
is

A, Aortic dissection

B. Aortic valve stenosis

C. Atherosclerotic aneurysm

D. Myocardial infarction

E. Syphilitic aneurysm

Un homine de 55 ans hypertendun développe Vapparition
soudaine d'une douleur atroce a partir de la paroi thoracique
antérieure, puis irradiant dans le dos. Au cours des 2
prochaines heures, la douleur se déplace vers le bas vers
I'abdomen. Le diagnestic le plus probable est:

A. La dissection aortique

B. sténose de la valve acrtique

C. Anévrisme athéroscléreux

D. L'infarctus du myocarde

E. Anévrisme syphilitique

s daiia g 13l e A Ll 20 6 pae Ja
a5 3aad p Agala) jacalt dakaia  fay apa i alas
OOl e YV R (el g e 20 jedal

D Lagn i SV el
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15 | The intrinsic pathway factors of coagulation does NOT £ Laial 4dals S Jalse (e il p U e (g
include which factor: VIII dele A
A. Factor VIII IX Jale B
B. Factor IX )
C. Factor X Xdd= .C
D. Factor XI Xldle D
E. Factor XII Xllde= E
Les facteurs de la voie intrinséque de la coagulation ne
comprennent pas:
A Facteur VIII
B. Facteur [X
C. Facteur X
D. Facteur X1
E. Facteur XII
16 | All the following are features of salicylates intoxication

except one:

A. Convulsions

B. Hyperventilation

C. Respiratory alkalosis
D. Aciduria

E. Dehydration

Tous les propositions qui suivent sont caractéristiques de
l'intoxication aux salicylés, sauf une;

A. Convulsion

B. Hyperventilation

C. Alcalose respiratoire

D. Acidurie

E. Déshydratation

136 L COladdly pandill Ciliaal po oA (L S
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You are asked to perform a preoperative evaluation on a 55-
year-old woman with type 2 diabetes mellitus prior to
elective femoral-anterior tibial artery bypass surgery. She is
unable to climb a flight of stairs or do heavy work around the
house. She denies exertional chest pain, and is otherwise
healthy.

Based on current guidelines, which one of the following
diagnostic studies would be appropriate prior to surgery
because the results could alter the management of this
patient?

A) Pulmonary function studies

B) Coronary angiography

C) Carotid angiography

D) A dipyridamole-thallium scan

E} A hemoglobin Alc level

Vous étes invite a effectuer une évaluation préopératoire
chez une femune de 55ans diabétique de type2 ayant un
pontage électif entre 1"artére fémorale et l'artere tibiale
antérieure. Elle est incapable de monter un escalier ou faire
des travaux lourds autour de 1a maison. Elle nie la douleur
thoracique a leffort, et est en bonne santé.

Selon les lignes directrices actuelles, laquelle des études
diagnostiques suivantes, serait approprié avant la chirurgie
parce que les résultats pourraient altérer la conduite a tenir
chez cette patiente?

A) Les érudes de la fonction pulmonaire

B) L'angiographie coronaire

C) Angiographie carotidienne

D) Une scintigraphie au thallium dipyridamole

E)} Un niveaud'hémoglobine Alc

W gar 3l ey ol sadl Gandh 8 a6l jal wlic il
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A primigravida at 38 weeks gestation is concemed that her
fetus is getting too large. Ultrasonography is performed and
an estimated fetal weight of 4000 g is reported.

Which one of the following management options is
supported by the best evidence?

A) Induction of labor

B) Cesarean section

C) Awaiting spontanecus labor

D) Weekly ultrasonography to follow fetal growth

Une primigravide 4 38 semaines de gestation est inquitéte
parceque son foetus augmente de taille. Une echographie est
pratiquée et le poids foetal est estimé & 4000g. Quelle est la
meilleure conduite & tenir évidente :

induction du travail

Césarienne

Attendre le travail spontané

Echographie hebdomadaire afin de suivre la
croissance du foetus

Cowx

b33 Liia ol Caolbl (TA £ Yl B 66 e JgY Jela
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A 43-year-old man has a blood pressure of 150/95 mm Hg
and creatinine 1.4mg/d. His urinalysis shows no glucose,
blood, or protein, and no casts. If he is not treated, which of
the following conditions will most likely cause his death?
Intracerebral hemorrhage

Aortic aneurysm rupture

Chronic renal failure

Congestive heart failure

Intracranial aneurysm rupfure

SECRelFS

Un homume de 43 ans a une pression artérielle de 150/95 mm
Hg et une créatinine 1.4 mg/j. Seon analyse d'urine ne
montre pas de glucose, du sang ou des protéines, ni de
cylindres. S$'il n'est pas traité, la cause de sa mort serait :

A. L'hémorragie intracérébrale

B. Rupturc d’un anévrisme aortiquc

C. L'insuffisance rénale chronique

D. L’insuffisance cardiaque, congestive

E. Rupture d'un anévrisme intracrinien
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Upper extremity deep-vein thrombosis is best treated with:
A) Intravenous heparin for 72 hours, followed by oral
warfarin (Coumadin) for 3 months

B) Low molecular weight heparin (LMWH) subcutaneously
for 5 days only

C) LMWH subcutaneously for at least 5 days, followed by
oral warfarin for 3 months

D} LMWH subcutaneously for at least 5 days, followed by
oral warfarin indefinitely

E) Oral warfarin for 3 months

La thrombose veineuse profonde de l'extrémité supérieure est
mieux traitée avec:

A) L'héparine intraveineuse pendant 72 heures, la warfarine
par voie orale (Coumadin) pendant 3 mois

B) 'héparine de bas poids moléculaire (HBPM) sous-cutanée
pendant 5 jours seulement

C) HBPM sous-cutanée pendant au moins 5 jours, suivie par
la warfarine orale pendant 3 mois

DY HBPM sous-cutanée pendant au moins 5 jours, suivie par
la warfarine orale indéfiniment

E) la warfarine orale pendant 3 mois
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A young girl is transferred to the emergency room because of
a suicide attempt. On examination, she was agitated with
wheezing and had increased bronchial secretion, miosis and
diaphoresis. In addition to ventilation and perfusion, how do
you deal with this girl?

A. You install a scope and you give physostigmine

B. You make a benzodiazepine dosage in plasma then you
give Flumazenil

C. You give of atropine and pralidoxime

D. You alcalinise urine with serum bicarbonate

E. You give Narcan

Une jeune fille est transférée aux urgences pour supposition
d’une tentative de suicide. A ’examen, elle a une agitation
avec une respiration bruyante par encombrement bronchique,
un myosis et une hypersudation. En plus de la ventilation et
de la perfusion, comment traitez-vous cette fille?
A. Vous installez un scope et vous lui donnez la
physostigmine
B.  Vous faites un dosage des benzodiazépines
plasmatiques et vous donnez le Flumazénil
C.  Vous lui donnez de I’atropine et de la
pralidoxime
D.  Vous alcalinisez les urines avec du sérum
bicarbonaté
E. Vous donnez le Narcan
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While evaluating a stroke patient, you ask him to stick out
his tongue. At first he is unable to do this, but a few
moments later he performs this movement spontaneously.
This defect is known as

A) apraxia

B) agnosia

C) expressive (Broca's) aphasia

D) astereognosis

En évaluant un patient attaint d*un accident vesiculaire
cérébral, vous lui demandez de tirer 1a langue. Au début, il
est incapable de le faire, mais quelques instants plus tard, il
effectue ce mouvement spontanément.

Ce défaut est connu sous le nom

A) apraxie

B) agnosie

C) aphasie d’expression (Broca)

D) astéréognosie

A day O e Calda Ay s ey g apil Sie
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A 45-year-old school teacher presents with a 3-month history
of hoarseness that is not improving.

The most appropriate management at this time would be

A) voice therapy

B) azithromycin

C) a trial of inhaled corticosteroids

D) a trial of a proton pump inhibitor

E) laryngoscopy

Un professeur d'école de 45 ans se présente avec une histoire
de 3 mois d'enrouement qui ne s'améliore pas.

Le traitement le plus approprié en ce moment serait

A) Un traitement de la voix

B) l'azithromycine

C) un essai de corticostéroides inhalés

D) un essai d'un inhibiteur de la pompe a protons

E) laryngoscopie
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Which one of the following would be most appropriate in the
management a 15-month-old male with suspected
uncomnplicated comnmunity acquired penurnonia seen in an
outpatient clinic with less than 24 hour illness.

A) Hospital admission and sepsis workup

B) Inpatient monitoring, with no antibiotics at this time
C) Hospitalization and intravenous cefiriaxone

D) Close outpatient follow-up, with no antibiotics at this
time

E) Oral high-dose amoxicillin (90 mg/kg/day), with close
outpatient follow-up

Lequel des choix suivants serait le plus approprié dans la
gestion d'un enfant de 15 mois avec suspicion d’une
penumonie acquise dans la communaute et qui est vu dans
une clinique externe avec moins de 24 heures de maladie.
A) Admission & I'hdpital avec bilan de septicémie

B) Admission 4 I'hdpital et observation sans antibiotiques en
ce moment

C) Hospitalisation et de la cefiriaxone par voie intraveineuse
D) Suivi ambulatoire rapproché, sans antibiotiques a ce
moment

E) Amoxicilline (90 mg / kg / jour), par voie orale a dose
¢levée, avec un suivi ambulatoire rapproché
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25 | In children fixed splitting of the second Heart sound is oS R LTS LA 5 FCIWOR JUI L1 I SIS
characteristic of: - i ga (e
A, Patent ductus arteriosus . . e
B. Small ventricular septal defect Ahall B A0 -A
C. Ebstein’s anomaly ikl alall (3 e cue -B
D. Atrial septal defect Csa 3l -C
E. None of the above. 1 satall b cue D
Le dédoublement du 2°™ bruit cardiaque chez les enfants est A el n S -E
trés en faveur de:
A, Persistance du canal artériel
B. Petite communication interventriculaire
C. Anomlaie d’Ebstcin
D. Communication interauriculaire.
E. Toutes les propositions sont fausses
26 | A 48-year-old woman has abnormal vaginal bleeding. Her

periods arc lasting 3-5 days longer than usual, bleeding is
heavier, and she has experienced some intermenstrual
bleeding. Her physical exam, hemoglobin are normal and
pregnancy test negative.

Which one of the following is the most important next step
in management?

A) Laboratory tests to rule out thyroid dysfunction

B) An endometrial biopsy

C) Oral contraceptives, 4 times a day for 57 days

D) Cyclic combination therapy with conjugated estrogens
(Premarin) and medroxy-progesterone {(Provera) each month
E) Administration of a gonadotropin-releasing hormone
analog such as leuprolide acetate

Une femme de 48 ans a des saighements vaginaux anormaux.

Ses régles sont d'une durée 3-5 jours plus que d’habitude, le
saignement est plus abondant, et elle a connu quelques
saignements intermenstruels. Son examen physique et
Fhémoglobine sont normaux et le test de grossesse est
négatif.

Lequel des énoncés suivants est I'étape la plus importante
dans la conduite 4 tenir?

A) Les tests de laboratoire pour exclure un
dysfonctionnement thyroidien

B) Une biopsie de l'endométre

C) Les contraceptifs oraux, 4 fois par jour pendant 5-7 jours
D) thérapie de combinaison cyclique avec des cestrogénes
conjugués (Premarin) et medroxy-progesterone (Provera)
chaque mois

E) l'administration d'un analogue d'hormone libérant la
gonadotropine tel que l'acétate de leuprolide
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You have recently removed a nevus from a patient. The
pathologist reports the lesion as a dysplastic nevus (an
atypical mole). What do you suggest to the patient?

A. Re-excision with a 2 to 3 mm margin to ensure
complete excision
Nothing
Observation
Reassurance
Re-excision with a 5-cm margin

moow

Vous avez récemment excisé un naevus d'un patient. Le
pathologiste signale la 1ésion comme un naevus dysplasique
(un naevus atypique). Que proposez-vous pour le patient?

A. Re-excision avec une marge de 2 & 3 mm pour assurer une
exérése compléte

B. Rien

C. Observation

D. Réassurer

E. Re-excision avec une marge de 5 cin
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Uncomplicated, type B (distal) aortic dissections are usually
treated with which of the following?

Anticoagulants

Blood pressure control

Surgery

Intra-aortic balloon pump

None of the above

Mo Ow

La dissection aortique non compliquée de type B (distale),
est généralement traitée avec laquelle des suivantes?

A. Anticoagulants

B. Le contréle de pression arténelle

C. Chirurgie

D. pompe a ballonnet intra-aortique

E. Aucune de ce qui précéde
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A 4]1-year-old man has been drinking up to 20 liters per day
of water for the past week. His lab shows sodium 162
mmol/L., potassium 4.1 mmol/L, chloride 121 mmol/L,
bicarbonate 27 mmol/L, glucose 75 mg/dL, creatinine 1.0
mg/dL, and serum osmolality 343 mOsm/kg. A deficiency of
which of the following hormones is most likely present in
this man?

Antidiuretic hormone

Oxytocin

Insulin

Growth hormone

Prolactin

Mo 0w

Un homme de 41 ans buvait jusqu'a 20 litres d'eau par jour
durant la semaine passée. Son bilan de laboratoire montre :
sodium 162 mmo! / L, potassium 4,1 mmol / L, le chlorure
de 121 mamol/ L, le bicarbonate de 27 mmol / L, glucese 75
mg / dL, la créatinine de 1,0 mg / dL, 'osmolalité du sénum
343 mOsm / kg. La déficience de quelle hormone est
probablement présente chez ce patient

hormone antidiurétique

Ocytocine

Insuline

hormone de croissance

prolactine

Mo Owp
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A 26 y.o.female presents with sudden onset of mental
confusion and subsequently seizure. Lumbar pucture shows 1
RBC and 20 lymphocytes, with normal glucose and protein.
MR imaging of her brain reveals swelling of the right
temporal lobe with hemorrhagic areas. The most likely
etiologic diagnosis is:

Mycobacterium tuberculosis

Herpes simplex virus

Influenza virus

Hemophilus influenza

Brucella

€O O >

Une femme de 26 ans se présente avec une apparition brutale
d'une confusion mentale et par la suite une convulsion. La
ponction lombaire montre | globule rouge et 20
lymphocytes, avec le glucose et la protéine normale. IRM de
son cerveau révéle un edeme du lobe temporal droit avec des
zones hémorragiques. Le diagnostic etiologique le plus
probable est:

A. Mycobacterium tuberculosis

B. Herpes simplex

C. virus de la grippe

D. Haemophilus influenzae

E. Brucella
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Epidural anesthesia in a pregnant woman may result inall of | < 0 o o o8 Jabs 5l e ddlall 558 ppaaill o
the following conditions EXCEPT: e Le il iyl
A- Hypotension ' ;
B- Decreased placental perfusion o A

C- Decreased venous return esdall sl )Y b palisd) -B
D- Increased venous pooling @l el Galissl -C
E- Increased cardiac output Ly i Aageadll da 3 -D

L'anesthésie péridurale chez une femme enceinte peut
entrainer toutes les conditions suivantes SAUF:

A- Hypotension

B- Diminution de la perfusion placentaire

C- Diminution du retour veineux

D- Augmentation de la stase veuineuse

E- Augmentation du débit cardiaque

dall cL‘u qﬂ il -E

An a-fetoprotein of 0,44 times normal would predict the S o pankalh Cpa 1 G e v B E (e gk e )
possibility of which of the following conditions? A YA (e ) i Jestal i
A- Omphalocele s '

B- Trisomy 21 ot -A
C- Multiple pregnancies VY prealt 2BS -B
D- Trisomy 30 Aaeie Jas -C
E- Turner's syndrome Yo geeall &l D

. ) , S dajdoe -E
Une o-fetoprotein de 0,44 fois la normale prévoit la

possibilité de laquelle des conditions suivantes?
A- Un Omphaiocele
B- La trisomie 21
C- grossesses multiples
D- trisomie 30
E- syndrome de Turner

A 7 month old infant was brought to the ER at 4:00am for delull die egs gl aud L) juas el Vo e Jik

respiratory distress and cough. Physical exam revealed R ognhls A (e g (aloa dnct i
expiratory stridor with sub costal retraction. His temperature o e Lt A )

was 38.5C. The patient most probably has: Caal ALy 5085 e f il el (e

A. Broncho-pneumonita. Jagd G 5 ASY1 Aalh ol 2% YA ) o aluall

B. Asthmatic attack. LA gl

C. Laryngotracheo bronchitis. e Tyl -A

D. Foreign body aspiration. : )

E. None of the above so%y -B
e g onis Jual Qi -C

Un nourrisson de 7 mois a été amené aux urgences a 4h00 du e e puand il ) -D)

matin pour une détresse respiratoire et une toux. L'examen
physique révéle un stridor expiratoire et rétraction sous-
costale. Sa température est de 38,5 C. Le diagnostic le plus
probable est:

A. La broncho-pneumonie

B. Une crise d’asthme

C. Une Laryngo-trachéo-bronchite.

D. Aspiration d'un corps étranger.

E. Aucun des précédents.

fasaia e odeliaYI U -E
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A 12-year-old boy presents with left hip pain and a limp. He
says the pain started gradually after sports game without any
injury. He is afebrile and has limited internal rotation of the
left hip.

What is the most likely cause of the hip pain?

A} Septic arthritis

B) Juvenile rheurnatoid arthritis

C) Transient synovitis

D) Slipped capital femoral epiphysis

E) Legg-Calvé-Perthes disease

Un gargon de 12 ans se présente avec des douleurs de la
hanche gauche et une boiterie. Il dit que la douleur a
commencé progressivement aprés un jeu de sport sans aucun
traumatisme. Il n'a pas de fiévre et a une limitation de la
rotation interne dc la hanche gauche.

Quelle est la cause la plus probable de la douleur & la
hanche?

A) L'arthrite septique

B) L'arthrite rhumatoide juvénile

C) une synovite transitoire

D) Une épiphysiolyse du condyle fémorale

E) Maladie de Legg-Calvé-Perthes

Eors ol bl e jSl Lale VY o jee 8

O3 Al 4uad 3 Qa5 ey o591 Oy ol 030
Gl Ol 53 e e Gl Al i il
AY G 5 EY 58 Le dgaa i)l
¢, N

A Jaalia gl A

wimd 55 dealie gl -B

e Gl -C

Al i 24l ALA. g A D

G ANl el -

35

A serious complication of the treatment of hypematremic
debydration is;

A. Cerebral thrombosis

B. Cerebral edema

C. Hyperchloremia

D. Hypoglycemia

E. None of the above

Une complication grave du traitement de la déshydratation
hypematrémique est la suivante:

A. Thrombose cérébrale

B. L'eedéme cérébral

C. Hyperchlorémie

D.Hypoglycémie .

E. Aucune de ce qui précéde
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A 52-year-old patient is concerned about a biopsy result from
a recent screening colonoscopy. Which one of the following
types of colen polyp is most likely to become malignant?

A) Hyperplastic polyp

B) Hamartomatous polyp

() Tubular adenoma

D) Villous adenoma

E) Tubulovillous adenoma

Un patient de 52 ans est préoccupé par le résultat d'une
biopsie lors d'une coloscopie de dépistage récente. Lequel
des types suivants de polype colique est le plus susceptible
de devenir malin?

A) Polype hyperplasique

B) Polype hamartomateux

C) Adenoma tubulaire

D) Adencma villeux

E) Adenoma tubulovilleux
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A 52-year-old alcoholic male presents with a |-month
history of weight loss, fever, malaise, and a cough productive
of foul-smelling sputum. Chest roentgenogram shows a
cavitary lesion in the posterior segment of the right upper
lobe, What is the most likely diagnosis?

Aspiration pneumonia

Lung cancer

Tuberculosis

Bactenal pneumonia

Lung abscess

YO W

Un homme de 52 ans alcoolique ayant une histoire depuis |
mois de perte de poids, fiévre, malaise, et une toux
productive de crachats nauséabonds. La radiographic
thoracique montre une lésion cavitaire dans le segment
postérieur du iobe supérieur droit. Quel est le diagnostic le
plus probable?

A_La pneumonie par aspiration A

B. Le cancer du poumon

C. Tuberculose

D. La pneumonie bacténenne

E. Abcés du poumon
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Hyporeflexia in the Achilles tendon reflex may be an
indication of any of the following EXCEPT
A. Damage to the sensory nerve from the tendon
stretch receptor
B. Corticospinal tract damage | month prior to the
examination
C. Acute transection of the spinal cord at C5
D. Hypothyroidism
E. Diabetes mellitus

La diminution du réflex du tendon d’ Achilles est retrouvée
dans les situations suivantes, SAUF:
A. Atteinte du nerf récepteur 4 1’étirement du tendon
B. Atteinte du faisceau corticospinal, un mois avant
Pexamen
C. Section aiguée de la moelle au niveau de C5
D. Hypothyroidie
E. Diabete sucré
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Hyperactive tendon reflexes are often an indication of
damage to the

Spinal cord

Peripheral nerve
Cerebellum

Tendon stretch receptors
Muscles

MO Ow e

L’augmentation des réflexes tendineux est due 2 une atteinte
de:

A La moelle épiniére

B.Le nerf périphérique

C.Le cervelet

D. Les récepteurs tendineux a 1’ étirement
E.Les muscles

e AYatde a5 Taliah dde jhall CludSasi)
Dt Al

Syl gladll JA

b aasll B

gl -C

sl a8 e <D

Ceaadl -E

40

Which one of the following is most typical of polymyalgia
rheumatica?

A) Headache and neck pain

B) A normal erythrocyte sedimentation rate (ESR)

C) A dramatic response to corticosteroids within 72 hours
D) A lack of systemic symptoms and signs

E) Weight gain and hyperphagia

Lequel des énoncés suivants est le plus typique de la
pseudopolyarthrite rhizomélique?

A) Maux de téte et douleurs au cou

B) Un taux normal de sédimentation (VS)

C) Une réponse spectaculaire aux corticoides dans les 72
heures

D) Une absence de symptdmes et de signes systémiques
E) Le gain de poids et boulimie
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41 | Which one of the following is the greatest risk factor for ¢ Lkall il pY sl sagall Jaladl g G (s )
abdoTninal aortic aneurysm (AAAY? Sandl as A
A} Cigarette smoking \
B) Diabetes mellitus gl e -B
C) Vasculitis ey Al -C
D) Female gender gAY pualdl D
Lequel des énonceés suivants est le plus grand facteur de
risque de l'anévrisme de l'aorte abdominale (AAA)?
A) La cigarette
B) Le diabéte sucré
C) Vasculite
D) Le sexe féminin
42 | A 65-year.—011c“1ha1coholic malle is admitted with bactf_:r_ia] s say s (Jsash L Blai e 10 6y Ja
pneumonia. The sputum culture grew out gram-positive - Sl 13 e il ia e Dy )
alpha hemolytic diplococci, catalase negative, and bile st JJ_M_QMJ g0 ueuu-' o "’Jﬁ_ J_u w
esculin positive. The causative organism of this patient's tptbor SV <ol jili o g 3l A 23505
pneumonia is CAN Apaall 4 gl Gl e (g ob jieall ol 5S
A. Staphylococcus aureus s Jal e die 301
B. Streptococcus pyogenes Lol il il ySall JA
C. Emerococcusfaec.ahs N Ll aindl 1,841 -B
D. Staphylococcus epidermidis LT . |
E. Streptococcus preumonia i)l g peall b Sl -C
galall i il @i S0 -

Un homme alcoolique de 65 ans est admis avec une Ly i diadl i Sl -F

pneumonie bactérienne. La culture des crachats pousse en

diplocoques a Gram positif alpha-hémolytique, catalase

négatif, et positif 4 1a bile esculine. L'organisme responsable

de la pneumonie chez ce patient est

A. Staphylococcus aureus

B. Streptococcus pyogenes

C. Enterococcus faecalis

D. Staphylococcus epidermidis

E. Streplococcus preumoniae

43 | Which of the following findings of chest x-ray is most

consistent with the diagnosis of chronic obstructive
pulmonary disease (COPD)?

Hyperinflation, bronchial thickening
B. Perihilar fluffy infiltrates

C. Pleural effusion, Kerley B lines

D. Diffuse nodular opacities

E. Ground glass shadowing

>

A la radiographie pulmonaire, lequel des résultats suivants
est le plus compatihle avec le diagnostic de la maladie
pulmonaire obstructive chronique (BPCQO)?

A. Hyperinflation, épaississement bronchique

B. Infiltration flocconneuses périhilaires

C. Epanchement pleural, lignes de Kerley B

D. Opacités nodulaires Diffuses

E. Verre dépoli
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Mastoiditis usually results as a complication of which of the
following infections?

A. Parotitis

B. Dental abcess

C. Acute otitis media

D. All of the above

La mastoidite résulte habitueliement comme une
complication de:

A, La parotidite

B. L abcés dentaire

C. L otite moyenne aigué

D. Toutes les propositions sont justes
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The sigmoidoscopy report of a 70-year-old man shows
melanosis coli. He has a long history of constipation,
hypertension, and diet-controlled type 2 diabetes mellitus.
You would now

A) perform a metastatic workup

B) review his medications

C) prescribe oral corticosteroids

D) prescribe antibiotics and a proton pump inhibitor

E) check his stool for Clostridium difficile

Le rapport sigmoidoscopique d'un homme de 70 ans montre
une mélanose colique. Il a une longue histoire de
constipation, d’hypertension, et un diabéte de type 2. Vous
allez le contréler par le régime alimentaire maintenant.

A) effectuer un bilan métastatique

B) passer en revue ses médicaments

C) prescrire des corticoides par voie orale

D) prescrire des antibiotiques et un inhibiteur de la pompe 2
protons

E) recherche de Clostridium difficile dans les selles
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A patient complains that he develops shortness of breath and
wheezing when he goes jogging or engages in other heavy
exercise, but has no breathing difficulty otherwise. The most
likely explanation for this history is which one of the
following?

A. He is allergic to something in the environment
where he jogs
He is allergic to some component of his athletic
equipment
He has exercise-induced asthma
The psychological stress associated with
exercise triggers latent asthma
Dyspnea and wheezing are normal responses to
heavy exertion

m o0 w

Un patient se plaint qu'il développe un essoufflement et des
sibilants respiratoires quand il va faire du jogging ou se livre
a un exercice intense, mais n'a aucune difficulté  respirer
autrement. L'explication la plus probable pour cette histoire
est:

A1l est allergique a quelque chose dans l'environnement ou
il fait du jogging

B. Il est allergique a certains composants de son équipement
sportif

C. Il a I'asthme d'effort

D. Le stress psychologique associé a l'exercice déclenche
I'asthme latent

E. Dyspnée et sibilants sont des réactions normales 4 un
effort intense
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A 60-year-old otherwise healthy man presents with
symptoms of reflux disease and undergoes an endoscopic
evaluation. The biopsies in the distal esophagus are
consistent with high-grade dysplasia associated with Barrett
esophagus. What is the appropriate treatment for this patient?

A. Proton pump inhibitor therapy

B. Esophagectomy

C. Anti-reflux surgery

D. Observation with annual endoscopic
gastroduodenoscopy

Un homme age de 60 ans en bonne sante se presente avec
des symptomes de reflux et subit une evaluation
endoscopique. Les biopsies au niveau de I'cesophage distale
montrent une dysplasie de haut grade associee a un
cesophage de Barrett. Quel est le traitement approprie chez ce
patient

Traitement aux inhibiteurs de la pompe a proton
Oesophagectomie

Chirurgie anti reflux

Surveillance avec une gastro duodenoscopie annuelle
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Oral candidiasis can be found in:

A. Infants

B. Children with AIDS

C. Children receiving antibiotics

D. Children with nutritional deficiencies
E. All of the above

La candidose buccale peut étre trouvée chez:

A Les nourrissons

B. Les enfants atteints du sida

C. Les enfants recevant des antibiotiques

D. Les enfants présentent des carences nutritionnelles
E. Toutes ces réponses
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49 | Diabetes insipidus may be due to all of the following except: Dhae Le o e JS oy Ggiilh Al aad o oSy

g' Izler:ll;tlag)'?t?:;:lm:DH tion defect R 20y A
. itheli reception c . e .
C. Hypokalemia 805 gkl A ADH Jiiss ‘,,at—ur— -B
D. Hypercalcemia il ol s -C
E. Adrenal deficiency allayud€ i LD
).1':51‘ [RY _)_,ua;"- -E

Le diabéte insipide peut étre due a I'ensermble de ce qui suit,
sauf’
A. Adénome hypophysaire
B. Défaut de réception ADH au niveau de I’epithelium renal
C.L'hypokaliémie.
D. L'hypercalcémie
E. insuffisance surrénalienne

50 | A 3-yr-old girl presents with microcephaly and mental

retardation. Her mother had a flu-like illness during the
second month of pregnancy. At birth, the baby had petechiae
and hepatosplenomegaly, which have resolved. The most
likely diagnosis is:

A. Congenital HIV infection

B. Congenital rubella

C. Congenital parvovirus infection

D. Isoimmune neopatal thrombocytopenia

E. Subacute sclerosing panencephalitis

Une fillette de 3 ans a présente une microcéphalie et un
retard mental. Sa mére a eu un syndrome pseudo-grippal
pendant le deuxiéme mois de grossesse. A la naissance, le
bébé avait des pétéchies et une hépatosplénomégalie, quit ont
résolu. Le diagnostic le plus probable est la suivante:

A. L'infection congénitale SIDA

B. rubéole congénitale

C.Infection & parvovirus congénitale

D. thrombocytopénie néonatale iso-immune

E. La panencéphalite sclérosante subaigué
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Prophylactic antibiotics after a bite is especially DAl day By (g g Suime el ks

recommended: Ll dae e 4 -A

A-In cat bites ) X _

B-In case of human bite i dme a5 B
C-If the wound is extensive or facial aa il Sigh wad el g8 LC
D-In case of joint damage or bone abadl 5l Qeadall 300 A s D

E-All answers are correct dagaa el iV K WE

La prophylaxie par antiblotiques aprés morsure est surtout
recommandée :

A- En cas de morsure de chat

B- En cas de morsure humaine

C- Sila plaie est extensive ou faciale

D- En cas d’atteinte articulaire ou osseuse

E- Toutes les réponses sont correctes

The infection that you should search when you have a el Aliayl aie e Ciah g g3 LY )
recurrent erythema multiforme is: © A Blanie JISAI b Sia
A- Measles . |
B- Herpes virus infection ' Bt
C- Syphilis Sl Gy gl -B
I]'é)— Scarlet f_‘evq cuins -C

- Rickettsiosis 8 yaa -D
L'infection & rechercher devant un érythéme polymorphe il el -E

récurrent est:
A- Larougeole
B- L'infection & herpés virus
C- La syphilis
D- La scarlatine
E- La rickettsiose

C-22
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A 22-year-old man says, he injured his right knee while
executing a sudden cutting maneuver at a soccer game. With
his right foot planted and his ankle locked, he attempted to
shift the position of his body to stop an oncoming ball and
felt his knee pop. He had a moderate amount of pain and
swelling, which began within 2 hours of the injury, but he is
most concerned about the loss of knee hyperextension.
Which one of the following tests is the most likely
diagnosis?

A Anterior Cruciate Ligament tear

B) Meniscal tear

C) Latereal ligament tear

D) Tibial plateau stress fracture

E) Locked knee

Un homme de 22 ans dit, qu’il a endommage son genou droit
lors de l'exécution d'une manceuvre soudaine durant un
match de football. Avec son pied droit planté et sa cheville
bloquee, il a tenté de déplacer la position de son corps pour
arréter une balle venant en sens inverse et sentit son genou
faire un bruit sec. Il avait une douleur modérée et une
enflure, 2 heures aprés le traumatisme suivant la blessure,
mais il est plus préoccupé maintenant par la perte
d’hyperextension du genou.

Lequel des suivants est le diagnostic le plus prohable?

A) la déchirure du ligament croisé antérieur

B) déchirure méniscale

C) déchirure du ligament Lateral

D) fracture de stress du plateau tibial

E) genou bloqué
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A 24 y.o. Lebanese male is found to have a PPD skin test
indurated at 9mm, on pre-employement screening. He is
otherwise healthy. Sputum and CXR were negative for
tuberculosis. What is the most appropriate explanation for
the doubtful tuberculin test in this patient?
A. Sputum and chest X-ray report could be wrong
B. Adequate sputum samples were not supplied
C. He was given BCG vaccination earlier in life
D. He may suffer from chronic cavitary lesion in
the lung
E. He has an active tubercular infection

Chez un homine libanais agé de 24 ans, on trouve une IDR
indurée a 9mm en dépistage de pré-embauche. Il est par
ailleurs en bonne santé. Les crachats et les radiographies
étaient négatifs pour la tuberculose. Quelle est 'explication
la plus appropriée pour le test a la tuberculine douteuse chez
ce patient?

A. Les résultats des crachats et de la radiographie du thorax
pourraientt étre faux

B. Les échantillons d'expectoration adéquats n'ont pas été
fournis

C. Il a été vacciné par le BCG plus t6t dans la vie

D. Il peut souffrir d'une 1ésion cavitaire chronique dans le
poumon

E. Il a une infection active tuberculeuse

PPD pand apal () aaylile YE o jan il o
Al ) J o Gand el ja) die a1 e S gala
siall e lall gl y alill | gunds ped U5
il daDle YY) il g LaJdudl olad il GIS
T Ly palt 138 iy pall opbid

Syl g a3 Gand W G 0 (S LA
AN e Asaalia Silie 3335

aba A Gl BCG 7W el a3

Lol A A e RS Al (g lry O (S
Jli i Gl 4l

mgow




55

The Valsalva maneuver will typicaily cause the intensity of a
systolic murmur to increase in patients with which one of the
following conditions?

A} Aortic stenosis

B) Rheumatic mitral insufficiency

C)Valvular pulmonic stenosis

D) Hypertrophic obstructive cardiomyopathy

La maneuvre de Valsalva typiquement augmente l'intensité
d'un souffle systolique chez les patients ayant laquelle des
conditions suivantes?

A} Une sténose aortique

B) linsuffisance mitrale rhumatismale

C) une sténose valvulaire pulmonaire

D) une cardiomyopathie hypertrophique obstructive
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56 | A 66-year old male patient with chronic kidney disease a8 e e 618 eld e e lale 11 0 e da
presents with acute gouty arthritis. He is allergic to aspirin. . Yi s 4asl e 5 Jesslin iyt
What anti-inflammatory should you prescribe? ool e & T "”’)‘J _ e
A. Acetaminophen P adiny i 3 YT e 2 Lo
B. Aspirin obgadinsd A
C. Celecoxib sl B
D. Ibuprofen S Sl C
E. Prednisone osse D

Un homme de 66 ans porteur d’une maladie renale o E

chronique, présente une'arthrite goutteuse aigué. Il est

allergique a I'aspirine. Quel médicament anti-inflammatoire

devriez-vous prescrire?

A. Acétaminophéne

B. Aspirine

C. Célécoxib

D. Ibuproféne

E. Prednisone

57 | Which of these laboratory tests has no interest in monitoring

a patient with lupus?
A- ESR and /or CRP
B- ANA
C- Serum complement level
D- Level of anti- DNA
E-Complete bleed count

Lequel des ces examens biologiques n’a aucun intérét dans le
suivi d’une malade lupique ?

A- VS et/ou CRP

B- ANA

C- C3,C4

D- Taux des anti ADN

E- Numération formule sanguine

Ll o (B Baan) A ) BN & paaall G il e s
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In temporal arteritis, choose from the following signs the
WIONE answer,

A - Headache

B - Amaurosis fugax

C - Polymyositis with high CPK

D - Claudication of the jaw

E - Fever

Dans l'arterite temporale, choisir parmi les signes
suivants la réponse fausse.

ol e e il geaall iy il Clgtll e Ld
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dih g e -D
ila -E

A. Céphalées
B. Amaurose fugace
C. Polymyosite avec CPK élevés
D. Claudication de la méchoire
E. Fiévre
59 | Which of these antibiotics is not active on the enterococcus? e JBd i ga A & gl Chaiadl (g )
A, penicilin G $ g el il pSal)
B. oxacillin
C. ampicillin T dkeh -A
D. piperacillin LSy -B
E. Augmentin T T
o . il D
Lequel de ces antibiotiques n’est pas actif sur 1’enrérocogue
? TR DY G o
A, Pénicilline G
B.  Oxacilline
C. Ampicilline
D. Pipéracilline
E. Augmentin
60 | Which of these drug poisoning is manifested by mydriasis?

A. organophosphate
B. barbiturates

C. amitriptyline

D. morphine

E. carbamates

Laquelle de ces intoxications s¢ manifeste par une
mydriase 7

Organophosphorés

Barbituriques

Amitriptyline

Morphine

Carbamates
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What is the disease that combines painless oral aphthosis,
superficial genital erosions and arthritis?

A-Behget's Disease

B-Reiter syndrome

C-Sarcoidosis

D- Lupus erythematosus

E-Takayasu's discase

Quelle est la maladie de systéme qui associe aux signes
articulaires une aphtose buccale indolore et des érosions
génitales superficielles?

A- Maladie de Behget

B- Syndrome de Reiter

C- Sarcoidose

D- Lupus érythémateux disséminé

E- Maladie de Takayasu

(5 seill e Al Tl Le e 0 ial a1 (e g
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Raynaud's phenomenon is found in all but one of these
etiologies. Which one?

A-Treatment with beta-blockers

B-Scleroderma

C-Treatment with Nifedipine

D-Buerger disease or thromboangiitis obliterans
E-Lupus erythematosus

Le phénomeéne de Raynaud est retrouvée dans toutes ces
étiologies sauf une. laquelle?

A- Prise de B- Bloguants

B- Sclérodermie

C- Prise de Nifédipine

D- Maladie de Buerger ou thromboangéite

oblitérante
E- Lupus érythémateux disséminé
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Arterial blood gases from a 75 year-old man,
emphysematous for 20 years, show: pH = 7.35, pO2 = 50
mmHg, pCO2 = 60 mm Hg; Bicarbonates =33 mmol/ |. This
is a:

A- Metabolic acidosis

B- Respiratory acidosis

C-Respiratory and metabolic acidosis

D- Mixed alkalosis

E- Metabolic alkalosis.

Vous faites des gaz du sang artériel 4 un homme de 75 ans,
emphysémateux depuis 20 ans. [ls montrent : pH= 7,35,
p0O2 =50mmHg ; pCO2=60 mm Hg; Bicarbonates= 33
mmoles/l. 1l s'agit d'une:

A- Acidose métabolique

B- Acidose respiratoire

C- Acidose respiratoire et métaboligue

D- Alcalose mixte

E- Alcalose métabolique.
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Which of the following hemolytic diseases may be
precipitated by aspirin intake?
A, Inherited sickle cell anemia
G6PD deficiency anemia
Aplastic anemia
Megaloblastic anemia
March anemia

moaw

Laquelle des maladies hémolytiques suivantes peut-clle étre
déclenchée par la prise d'aspirine?

A. L'anémie héréditaire (Sickle cell)

B. Deéficit en G6PD

C. L'anémie aplasique

D. L'anémie mégaloblastique

E. Anémie la Marche

Al Giaad gl Sy A0 ANa0Y) al e Y e g
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65 | A patient with chronic kidney disease presents with chronic a2 A e ST g e e 518 21 e (el A pe
nOrmocytic anemia with a hempglobm llevel of 7.8 g/dL._ Sl VoA Camste pat e Hpmple LA I3 (pa
The best outcome is predicted if you raise the hemoglobin T .
level to u'l'! LH"J'l"‘-‘}“fﬂ'“ t’:'_)‘ Ll Lyl g Jpaly LJ| L)S‘:‘
A) 8-10 g/dL DS Faa
B) 10-12 g/dL Judff Voo -A
C) 12-14 g/dL LYY .
D) >14 g/dL -l B

Juyg VENY C

Un patient atteint de maladie rénale chronique présente une duyp V¢ < -D
anémie normocytaire chronique avec un taux d'hémoglobine
de 7,8 g/ dL. Le meilleur résultat est prédit si vous
augmentez le taux d'hémoglobine a
A) 8-10g/dl
B) 10-12 g/ dL
C) 12-14 g/ dL
D)> 14 g/dl

66 | In streptococcal toxic shock syndrome, all the followings are

true except one:

A. Renal impairment

B. Respiratory distress syndrome
C. Soft tissue necrosis

D. Pancarditis

E. Coagulopathies

Dans le syndrome de choc toxique streptococcique, toutes les
propositions qui suivent peuvent s observer, sauf:

A. Afteinte rénale

B. Syndrome de détresse respiratoire

C. Nécrose des tissus mous

D. Pancardite

E. Coagulopathies
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Risk factors for pancreatic cancer include all but the
following:

A. Hereditary pancreatitis

B. History of pancreatic cancer in 2 first degree

relatives over age 60

C. Smoking

D. Alcohol

E. BRCAZ2 mutation

Les facteurs de risque pour le cancer du pancréas
comprennent tous les éléments suivants SAUF:

A. pancréatite héréditaire

B. Histoire du cancer du pancréas chez 2 parents de premier
degré agés de plus de 60 ans

C. Tabagisme

D. alcool

E. Mutation BRCA2
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A 17-year-old female patient came to the ER with symptoms
and signs of bacterial gastroenteritis. Which of the following
is the causative organism that mimics symptoms of acute
appendicitis?

Yersinia enterocolitica

Yersinia pseudotuberculosis

Yersinia pestis

Francisella tularensis

Pasteurella muiltocida

monOw>

Une patiente de 17 ans est venue a4 'urgence avec des
symptémes de gastro-entérite bactérienne. Lequel des germes
suivants est le micro-organisme qui simule les symptomes de
I'appendicite aiguge?

A. Yersinia enterocolitica

B. Yersinia pseudotuberculosis

C. Yersinia pestis

D. Francisella tularensis

E. Pasteurelia multocida
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A 56 y.0. heavy smoker male presents with weight loss and
dyspnea on exertion. He reported exposure to asbestos at
work, with appropriate respiratory precautions. CXR reveals
a hilar cavitary mass 4 centimeters in diameter. The most
likely neoplasm this man has is:

Hamartoma

Bronchoalveolar carcinoma

Mesothelioma

Squamous cell carcinoma

Small cell carcinoma

moaw»

Un homme de 56 ans, gros fumeur présente une perte de
poids et de la dyspnée a 1'effort. Ii a signalé l'exposition a
l'amiante au travail, avec les précautions appropriées
respiratoires. La radiographie pulmonaire révéle une masse
hilaire cavitaire de 4 centimétres de diamétre. La tumeur la
plus probable de cet homme est la suivante:

A. Hamartome

B. Carcinome broncho-alveolaire

C. Le mésothéliome

D. Carcinome épidermoide

E. Carcinome 4 petites cellules
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Which of the following is true about Philadelphia

chromosome and chronic myelocytic leukemia (CML):
A. Philadelphia chromosome refers to an altered

chromosome 20

Philadelphia chromosome is seen in the bone

marrow of over %0% of persons with CML

In CML, most patients have blasts more than

30% in peripheral blood on presentation

In CML, there is translocation of latency genes

between chromosomes

None of the above

m g 0 W

Laquelle des propositions suivantes est vraie au sujet du
chroimosome de Philadelphie et la leucémie myéloide
chronique (LMC):

A. Chromosome Philadelphie se référe & un chromosome 20
modifié

B. Chromosome Philadelphie est vu dans la moelle osseuse
de plus de 20% des personnes atteintes de LMC

C. En cas de LMC, la plupart des patients ont des blastes &
plus de 30% dans le sang périphérique & la présentation

D. En cas de LMC, 1l ya translocation des génes de latence
entre les chromosomes

E. Aucune de ce qui précéde
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A 56-year-old male with history of calcium oxalate stones is
diagnosed with primary hypertension. Which of the
following class of antihypertensives might best be avoided
due to his history of nephrolithiasis?

A. Angiotensin-converting enzyme (ACE)
inhibitors
Beta blockers
Caicium channel blockers
Loop diuretics
Thiazide diuretics

mo 0w

Un homme de 56 ans ayant des antécédents de calculs
d'oxalate de calcium est diagnostique avec hypertension
primaire. Laquelle parmi les classes suivantes
d'antihypertenseurs devrait étre €vitée en raison de son
histoire de lithiase rénale?

A. Les inhibiteurs de l'enzyme de conversion (IEC)

B. Les béta-bloquants

C. Les bloquants des canaux calciques

D. Les diurétiques de l'anse

E. Les diurétiques thiazidiques
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A 14-year-old girl develops gradually worsening diarrhea
and abdominal pain, with weight loss and fever. Stool
contains mucus, blood, and white blood cells but no parasites
or bacterial pathogens. Barium enema shows collar-button
ulcers and skip lesions in the colon. What is the greatest
concern in the long-term prognosis of this disease?

Bowel obstruction and fistulas

Carcinoma after 10 years of the disease
Deforming arthritis

Ankylosing spondylitis

Toxic megacolon

o aw e

Une jeune fille de 14 ans développe une diarrhée qui
s’aggrave progressivement associée a des douleurs
abdominales, une perte de poids et de la fiévre. Les selles
contiennent du mucus, du sang, et des globules blancs, mais
pas de parasites ni des bactéries pathogénes. Le lavement
baryté montre des ulcéres séparés par des muqueuses saines.
Quelle est la plus grande préoccupation pour le pronostic a
long terme de cette maladie?

A, Occlusion intestinale et fistules

B. Carcinome aprés 10 ans de maladie

C. Arthrite déformante

D. La spondylarthrite ankylosante

E. Le mmégacolon toxique
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The most definitive test for identifying intracranial
aneurysms is

A. MR scanning

B. CT scanning

C. Single photon emission computed tomography

(SPECT)
I>. Positron emission tomography (PET)
E. Angiography

Le test definitif pour identifier les anévrismes intracriniens
est

A. MR scan

B. CT scan

C. Single photon emission computed tomography (SPECT)
D. Tomographie par émission de positons (TEP)

E. L'angiographie
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A 69-year-old female with recurrent palpitations since
menopause, is started on quinidine 200 mg every six hours.
One month later, she sustains two episodes of near-syncope,
with torsade de pointes documented. The next step is:
A. Obtain a quinidine level
B. Send the patient to the emergency room for a
head CT scan
C. Send the patient to the emergency room for
magnesium sulfate infusion
D. Send the patient to the emergency room for
overdrive suppression with atrial or ventricular
pacing
E. Stop the quinidine

Une femme de 69 ans avec palpitations a répétitions depuis
sa ménopause, a débuté un traitement par quinidine 200 mg
toutes les six heures. Un mois plus tard, elle souffre de deux
épisodes de presque-syncope, avec des torsades de pointes
doeumentées. La prochaine étape est la suivante:

A. Obtenir un niveau de la quinidine

B. Envoyer la patiente a la salle d'urgence pour un scanner de
la téte

C. Envoyer la patiente 4 la salle durgence pour une perfusion
de sulfate de magnésium

D. Envoyer la patiente 4 la salle d'urgence powr réduction de
I’arythmie par stimulation auriculaire ou ventriculaire

E. Arrétez la quinidine
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While riding his bicycle, a 9-year-old boy loses control and
falls. During the process, his abdomen strikes the handlebar.
His parents bring him to the emergency department because
he has vague midabdominal pain and some bruising of the
anterior abdominal wall. His vital signs are stable, and he has
no other visible injuries. Which of the following is the most
likely diagnosis?

Ruptured spleen

Ruptured liver

Ruptured pancreas

Hematoma in the rectus muscle

Ruptured duodenum

Mo Ow>

Un jeune de 9 ans, tombe apres qu’il a perdu le contrle de
sa bicyclette. Durant la chute, son abdomen cogne le guidon,
Ses parents I’amenent au departement d’urgence a cause
d'une douleur vague au milieu de 1’abdomen. Ses signes
vitaux sont stables, et il n’a pas d’autres lesions visibles.
Quel est le diagnostic le plus probable :

rupture splenique

rupture hepatique

rupture pancreatique

hematome du muscle grand droit

rupture duodenale

moOw >
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Which of the following is NOT a cause of
hypertriglyceridemia?

A Acromegaly

B. Alcoholism

C. Diabetes mellitus

D. Estrogen therapy

E. Hypothyroidism

Lequel des énoncés suivants n'est pas une cause de
I'hypertriglycéridémie?

A. L'acromégalie

B. Alcoolisme

C. Le diabéte

D. L'estrogénothérapie

E. L'hypothyroidie
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A 57-year-old septic male patient is suspected to have a
diverticulitis with probable perforation. Which of the
following studies would best confirm the diagnosis
Barium enema

Colonoscopy

CT scan of the abdomen

Flexible sigmoidoscopy

Sonogram

mouaws

Un homme de 57 ans, septique, est soupgonné d'avoir une
diverticulite avec perforation probable. Quel est ’examen
qui confirmerait le mieux le diagnostic

A. Lavement baryte

B. La colonoscopie

C. Le scanner de I'abdomen

D. La sigmoidoscopie flexible

E. Echographie
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Which one of the following statements about plantar fasciitis
is true

A) It is a common cause of metatarsal tenderness

B) Pain is located on medial plantar aspect of heel

C) Pain gradually worsens when climbing stairs

D) Xrays are necessary for correct diagnosis

E) Steroid injection is the preferred treatement

Lequel des énoncés suivants au sujet de la fascite plantaire
est vrai

A) Il s'agit d'une cause commune de la douleur
métastarsienne

B) La douleur est située du coté plantaire et interne du talon
C) La douleur s'aggrave progressivement lors de la montée
des escaliers

D) Les radiographies sont nécessaires pour un diagnostic
correct

E) injection de stéroides est le traitement de choix
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The Glasgow coma scale measures consciousness by rating
parameters that include all the following EXCEPT
Orientation

Breathing

Eye opening

Limb posturing

Speech

MO0 w e

L'échelle de coma de Glasgow mesure la conscience par des
paramétres suivants SAUF

A. Orientation

B. La respiration

C. Ouverture des yeux

D. Position des membres

E. Paroles
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A 52-year-old woman with microcytic anemia and a long
standing history of constipation has occasional hemorrhoidal
bleeding, but no melena, and guaiac positive stool on rectal
exam without any masses. What is the most useful next
diagnostic test for this patient?

CT scan

Plain abdominal X-rays

Colonoscopy

Exploratory laparotomy

Upper endoscopy

moaw»

Une femme de 52 ans présentant une anémie microcytaire et
une longue histoire de constipation, a occasionnellement des
saignements hémorroidaires sans méléna, avec gaiac positif.
Pas de masses au toucher rectal. Quel est test de diagnostic
suivant le plus utile pour cette patiente?

A. CT scan

B. Radiographie abdominale simple

C. La colonoscopie

D. Une laparotomie exploratrice

E. Endoscopie digestive haute
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81 | Which one of the following treatments for diabetes mellitus A glia (e il (5 Sl ol LI Cla St e !
reduces insulin resistance? ¢ ol pui¥l
A) Acarbose (Glucobay) ;
B) Sitagliptin (Januvia) SEE SR
C) Repaglinide (Novonorm) Ofpleliv -B
D) E_xenlaltide {Byetta) aplely, -C
E) Pioglitazone (Actos) Wy D
Lequel des traitements suivants du diabéte qui réduit la Gyt -E
résistance & 1’insuline?
A) L'acarbose (Glucobay)
B) La sitagliptine (Januvia)
C) Le répaglinide (Novonorm)
D) L'exénatide (Byetta)
E) Pioglitazone (Actos)

82 | Which of the following is the most common cause of death

in patients whose hypertension is under control?
Aortic dissection

Coronary artery disease

Left ventricular dysfunction

Renal failure

Stroke

mOOw>

Lequel des énoncés suivants est la cause la plus fréquente de
décés chez les patients dont 'hypertension est sous contréle?
A. La dissection aortique

B. La maladie coronarienne

C. une dysfonction ventriculaire gauche

D. Insuffisance rénale

E. Accident cerebral
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A 17-year-old girl with Goodpasture syndrome and chronic
renal failure is not compliant to her dialysis sessions nor to
her antihypertensive medications. Her seram ionized calcium
1s 5.9 mg/dl with phosphorus 6.2 mg/dl and albumin 3.6 g/dl.
Which of the following bone lesions is she most likely to
have?

Osteitis fibrosa cystic

Fibrous dysplasia

Osteosarcoma

Giant cell tumor

Osteopetrosis

moOw»

Une fille de 17 ans avec le syndrome de Goodpasture et
insuffisance rénale chronique n'est pas conforme & ses
séances de dialyse, ni 4 ses médicaments anti-hypertenseurs.
Son taux sérique de calcium ionisé est de 5,9 mg / dl avec le
phosphore de 6,2 mg / d! et de I'albumine 3,6 g/ dl. Laquelle
de ces 1ésions osseuses est-elle plus susceptible d'avoir?

A. ostéite fibro-kystique

B. La dysplasie fibreuse

C. L'ostéosarcome

D. tumeur 4 cellules géantes

E. Ostéopétrose
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An adult obese male presents in respiratory distress and is
rapidly intubated. No history can be obtained priot to
intubation. By clinical evaluation, he is in pulmonary edema.
Of the following, what eticlogy of his pulmonary edema is
most likely?

Smoke inhalation

IV heroin use

Sepsis

An acute myocardial infarction

Pancreatitis

moOwWe

Un homme adulte obése présente une détresse respiratoire et
est rapidement intubé. Aucune histoire n’a pu étre obtenue
avant V'intubation. A 1'évaluation clinique, il est en cedémie
pulmonaire. Parmi les suivants, I’étiologie la plus probable
de son oedéme pulmonaire est?

A. L'iphalation de fumée

B. consommation d'héroine IV

C. Sepsis

D. Un infarctus aigu du myocarde

E. Pancréatite

A gy i Al (e S5 pay s v day

il 8 Ain ya 3 e 4pd iy ol L e JS00 i
A Aady e ey b (il (g el w21 el dic

Fadpll Gaga 55 YT Cloiaall e g4 Tl (e g6l
¢ Ja 134 2ic Ay 501

Ol il A

S Odis e pladiud B
o .C

Sl Ayl Aliae cLiSal D
SRE TR VL U, O




85

An 81-year-old male has type 2 diabetes mellitus, mild renal
failure and moderate ischemic cardiomyopathy. His a
hemoglobin Alc of 10.9% and is on maximum dosage of
glipizide.

Which one of the following would be the most appropriate
change in this patient’s diabetcs regimen?

A) Add metformin {Glucophage)

B) Add sitagliptin (Januvia)

C) Add pioglitazone {Actos)

D) Initiate insulin therapy

Un homme de 81 ans a un diabéte de type 2, une légére
insuffisance rénale et cardiomyopathie ischémiguemodérée.
Son taux d'hémoglobine Alc est de 10,9% et il se trouve
sous la dose maximale de glipizide.

Lequel des éléments suivants serait le changement le plus
approprié dans le régime du diabéte de ce patient ?

A) Ajouter la metformine (Glucophage)

B} la sitagliptine Ajouter (Januvia)

C) Ajouter la pioglitazone (Actos)

D) Initier l'insulinothérapie
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A 29 y.o. primigravida has sustained hypotension after
marked vaginal bleeding post- delivery, necessitating
transfusion of 12 packed RBC units. Postpartum, she
becomes sluggish, and tired. Laboratory findings include
hyponatremia, hyperkalemia, and hypoglycemia. The most
likely diagnosis is:

Bilateral adrenal hemorrhage

Pituitary necrosis

Subacute thyroiditis

Metastatic choriocarcinoma

Insulitis

SICRel-

Une femme de 29 ans, primipare est hypotendue aprés un
saignement vaginal sévére aprés l'accouchement, nécessitant
une transfusion de 12 unités culots globulaires. En post-
partum, elle devient lente et fatiguée. Les résultats du
laboratoire comprennent une hyponatrémie, une
hyperkaliémie et hypoglycémie. Le diagnostic le plus
probable est :

A. Hémorragie bilatérale des surrénales

B. Nécrose hypophysaire

C. Thyroidite subaigué

D. choriccarcinome métastatique

E. insulite
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A manual worker presented with pain, numbness of the right
hand especially at night. The most probable diagnosis :

A. Hemiated cervical disc

B. Carpal tunnel

C. Thoracic outlet syndrome

D. Tenosynovitis of the hand

Un travailleur manue! se presente pour douleur et
fourmillement surtout nocturnes de la main droite. Le
diagnostic le plus probable est :

A- Une hernie discale cervicale

B- Un canal carpien

C- Un syndrome du defile thoracique

D- Une tenosynovite de la main
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A 49-year-old woman has had increasing cold intolerance,
weight gain of 4 kg, and stuggishness over the past two
years. Her TSH is high; her T4 is normal. A year ago, anti-
thyroglobulin and anti-microsomal autoantibodies were
detected at high titer. Which of the following thyroid
diseases is she most likely to have?

De Quervain disease

Papillary carcinoma

Hashimoto thyroiditis

Graves disease

None of the above

moOw

Une femme de 49 ans a de plus en plus une intolérance au
froid, un gain de poids de 4 kg, et la lenteur au cours des
deux derniéres années. Sa TSH est élevée, son T4 est nonnal.
1l ya un an, auto-anticorps anti-thyroglobuline et anti-
microsomes ont été détectés & un titre élevé. Parmi les
maladies thyroidiennes suivantes est-elle plus susceptible
d'avoir?

A maladie De Quervain

B. un carcinome papillaire

C. une thyroidite d'Hashimoto

D. 1a maladie de Graves

E. Aucune de ce qui précéde
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A 25 y.o. previousty healthy woman complains of a slight
headache for 3 days, then dies suddenly. At autopsy, the
heart is found to be enlarged and dilated with only minimal
coronary atherosclerosis and with normal cardiac valves. The
most likely etiologic pathogen to have caused her death is:
Coxsackie B virus

Aspergillus albicans

Streptococcus viridians group

Staphylococcus aureus

Streptococcus group A

moaws>

Une femme de 25 ans, auparavant en bonne santé, se plaint
d'un léger mal de téte depuis 3 jours, puis meurt subitement.
A lautopsie, le ceeur est gros et dilaté avec une
athérosclérose coronarienne minime et des valves cardiaques
normales. L'agent pathogéne de sa mort le plus probable est :
A. Virus Coxsackie B

B. Aspergillus albicans

C. Streprococcus du groupe viridians

D. Staphylococcus aureus

E. Streptococcus du groupe A
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A 23 y.o. woman has worsening malaise, with a malar skin
rash persisting for 3 weeks. Echocardiogram reveals small
vegetations on the mitral valve and adjacent ventricular
endocardium. Her ANA is positive. The most likely
diagnosis is:

Polyarteritis nodosa

Scleroderma

Systemic lupus erythematosus

Infective endocarditis

ANCA-associated granulomatous vasculitis

mounw>

Une femme agée de 23 ans a une aggravation des malaises,
avec une éruption cutanée malaire persistante pendant 3
semaines. L’échocardiogramme révéle de petites végétations
sur la valve mitrale et I'endocarde ventriculaire adjacent. Son
ANA est positif. Le diagnostic le plus probable est:

A. Polyarterite noueuse

B. Sclérodermie

C. Lupus Erythémateux systémique

D. endocardite infectieuse

E. Vascularite pranulomateuse associce 8 ANCA
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Which of the following patients is most likely to bave a
breast lesion consisting of a solitary well-circumscribed 1 cm
firm nodule palpated in the lower outer quadrant on physical
examination:

A. 62-year-old woman with enlarged, firm axillary
lymph nodes
20-year-old man with bilateral breast
enlargement
45-year-old woman with bloody nipple
discharge
5-year-old girl with precocious puberty
22-year-old woman who is asymptornatic

mo 0 W

Lequel panmi les patients suivants est le plus susceptible
d'avoir une 1ésion du sein constitué d'un nodule solitaire
ferme bien circonscrit de 1 cm, palpé dans le quadrant
inférieur externe & 'examen physigue:

A Jeune femme de 62 ans, avec ganglions lymphatiques
axillaires fermes et grands

B. Homme de 20 ans avec élargissement bilatéral des seins
C. Femme de 45 ans avec un écoulement sanglant du
mamelon

D. Fille de 5 ans avec une puberté précoce

E. Femme de 22 ans, asymptomatique
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Cancer of the male breast is uncommon. The most common
type of breast cancer in the male is:

Lobular carcinoma
Ductal carcinoma
Sarcoma

Lymphoma
Metastatic carcinoma

mooOws

Le cancer du sein chez 'homme est rare. Le type le plus
commun de cancer du sein chez I'homme est le suivant:
A. Le carcinome lobulaire

B. Le carcinome canalaire

C. Sarecome

D. Lymphome

E. Le carcinome métastatique
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In a hospital cardiac care unit, there are three patients with
different cardiac conditions: a 52-year-old man with dilated
cardiomyopathy, an 18-year-old girl with mitral valve
prolapse, and a 30-year-old man with infective endocarditis
of the mitral valve. Which of the following features do all
these patients most likely share?

Decreased compliance

Depressed myocardial contractility

Infectious etiology

Mitral valve stenosis

Risk of systemic thromboembolism

mo 0wy

Dans une unité de soins hospitaliers cardiaque, il y a trois
patients atteints de différentes pathologies cardiagues: un
homme de 52 ans avec une cardiomyopathic dilatée, une fille
de 18 ans avec un prolapsus de la valve mitrale, et un homme
de 30 ans avec une l'endocardite bactérienne de la valve
mitrale. Laquelle des caractéristiques suivantes est commune
a tous ces patients?

A, Diminution de la conformité

B. Diminution de la contractilité du myocarde

C. Une étiologie infecticuse

D. Une sténose de la valve mitrale

E. Un risque systémique de la maladie thromboembolique
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Which one of the following tinea infections in children
always requires systemic antifungal therapy?

A) Tinea cruris

B) Tinea corporis

C) Tinea capitis

D) Tinea pedis

E) Tinea versicolor

Lequel de ces infections mycotiques (Teigne)chez les enfants
nécessite toujours un traitement antifongique systémique?

A) Tinea cruris

B) Tinea corporis

C) Tinea capitis

D) Tinea pedis

E) Tinea versicolor
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A patient on antibiotics for a wound infection develops
progressive anemia, initially normocytic, later macrocytic.
Then he develops pronounced pancytopenia. The reticulocyte
count is decreased. The most likely diagnosis is

Thalassemia

Aplastic anemia

Fragmentation syndrome

Sickle cell anemia

Paroxysmal nocturnal hemoglobinuria (PNH)

Mo 0w

Un patient sous antibiotiques pour une infection de la plaie
développe progressivement une anémie, initialement
normocytaire, plus tard macrocytaire. Puis il développe une
pancytopénie prononcée, La numération des réticulocytes est
diminuée. Le diagnostic le plus probable est

A Thalassémie

B. L'anémie aplasique

C. Le syndrome de fragmientation

D. Drépanocytose

E. Hémoglobinune paroxystique nocturme (HPN)
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An 18-year-old male presents with sore throat and has a
positive heterophil antibody test for infectious
mononucleosis. Appropriate management includes which
one of the following?

A) Prednisone high dose

B) An antihistamine

C) Amoxicillin-Clavulonate high dose for 14 days

D) Strict bed rest

E) Avoidance of contact sports (e.g. wresthing)

Un jeune homme de 18 ans se presente avec des maux de
gorge et un test positif aux anticorps hétérophiles de la
mononucléose infectieuse. Une prise en charge
appropriéecomprend lequel des suivants?

A} Prednisone 4 forte dose

B) Un antihistaminique

C) L'amoxicilline-Clavulonate forte dose pendant 14 jours
D) le repos au lit strict

E) Eviter les sports de contact (e.g. lutte)
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All of the following are thought to be risk factors for the
development of gastric adenocarcinoma EXCEPT:
Helicobacter pylori infection

High salt diet

Diet high in smoked foods

Cigarette smoking

Alcohol consumption

SO OWw

Tous les suivanis sont considérés comme des facteurs de
risque pour te développement de 'adénocarcinome gastrique
SAUF;

A. L'infection par Helicobacter pylon

B. régime élevé en sel

C. Alimentation riche en aliments fumés

D. La cigarette

E. La consommation d'alcool
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A 24-year old firefighter sustains 30% total body surface
area (TBSA) bums to his thorax, face, and extremities. His
wounds arc treated topically with silver nitrate. Which of the
following complications is associated with use of this agent ?

A. Hypernatremia

B. Metabolic acidosis

C. Hyperchloremia

D. Neutropenia

E. Hyponatremia

Un pompier age de 24 ans est atteint de brulures de 30% au
niveau du thorax, de la face et des extremites. Ses plaies sont
traitees localement par les nitrates d’argent. Quelle est parmi
les suivantes la complication qui est associee a cet agent
Hypematremie

Acidose metabolique

Hyperchloremie

Neutropenie

Hyponatremie

moNw
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A 4-year-old has abdominal pain and 3+ proteinuria on a
dipstick. Three days later the pain has resolved
spontaneously, and a repeat urinalysis shows 2+ proteinuria
with normal findings on microscopic examination. A
metabolic panel, including creatinine and total protein, is
also normal.

Which one of the following would be most appropriate at
this point?

A) Renal ultrasonography

B) A spot first morning urine protein/creatinine ratio

C) An antinuclear antibody and complement pane!

D) Referral to a nephrologist

Un enfant de 4 ans, a des douleurs abdominales et une
protéinurie 3 + sur une bandelette réactive. Trois jours plus
tard la douleur a disparu spontanément, et une analyse
d'urine répétée montre : protéinurie a 2 + et des résultats
normaux a l'examen microscopique. Un bilan métabolique, y
compris les protéines totales et la créatinine sont également
Nommaux.

Lequel des éléments suivants serait le plus approprié 4 ce
stade?

A} échographie rénale

B) Un examen du taux protéine/créatinine des premiéres
urines du matin

C) Un panel complet anticorps et complement

D) Référer chez un néphrologue
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F\ 62-year-old man comes for follow-up after a recent bout of

acute bronchitis. He reports having a productive cough for
several months. He gets breathless with exertion and notes
that every time he gets a cold it lingers for months. He has
been smoking for 30 years. A physical examination is
negative except for scattered rhonchi. A chest radiograph
done 4 months ago showed some byperinflation and flattened
diaphragm.

Which one of the following is the most likely diagnosis?
A) Recurrent bronchitis

B) Lung cancer

C) Asthma

D) Chronic Obstructive Pulmonary Disease

E) Heart failure

Un homme de 62 ans vient pour le suivi aprés un récent
épisode de bronchite aigué. Il déclare avoir une toux
productive pendant plusieurs mois. Il a le souffle coupé par
effort et note que chaque fois qu'il attrape un rhume ce
dernier s'attarde pendant des mois. Il fume depuis 30 ans.
I’examen physique est négatif, sauf pour les riles épars. Une
radiographie du thorax fait il ya 4 mois a montré une certaine
hyperinflation et un diaphragme aplati. Lequel des énoncés
suivants est le diagnostic le plus probable?

A) une bronchite récurrente

B) Le cancer du poumon

C) l'asthme

D) Maladie pulmonaire obstructive chronique

E) L'insuffisance cardiaque
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What recommendation for colonoscopy you would give to a
35 year old woman whose father had colonic cancer at age
57.

A) now and every 5 years if normal

B) now and every 10 years if normal

C) at age 40 and then every 5 years if normal

D) at age 40 and then every 10 years if normal

E) at age 50 and then every 5 years if normal

Quelle recommandation pour la colonoscopie que vous
donneriez & une femme de 35 ans dont le pére avait un
cancer du colon & 57 ans.

A) maintenant et tous les 5 ans si elle est normale

B) maintenant et tous les 10 ans si elle est normale

C) a l'dge de 40 ans et ensuite tous les 5 ans si elle est
normale

D) a I'age de 40, puis tous les 10 ans si elle est normale
E) a I'age de 50 ans et ensuite tous les 5 ans si elle est
normale
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Metformin (Glucophage) should be stopped prior to which
one of the following, and withheld until 48 hours after
completion of the test?

A) An upper (I series

B) Abdominal ultrasonography

C) CT angiography

D) MRI of the brain

E) Colonoscopy

La metformine (Glucophage) doit étre arrété avant et jusqu'a
48 heures aprés la fin de quel test?

A) Un transit cesogastroduodénal

B) Une échographie abdominale

C) l'angioscanner

D) IRM du cerveau

E) Colonoscopie
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103 | Which one of the following has the best evidence that it is ¢ aall ol 4abaaiod die Glal JEYE g8 A e g
safe for use in pregnancy? .
A) Alprazolam (Xanax) ﬂbuj“ A
B) Lithium el -B
C) Bupropion (Zyban) s -C
D) Fluoxetine (Prozac) Cil i D
E) Paroxetine (Seroxat) i -B
Lequel des suivants a la meilleure preuve qu'il est siir pour
une utilisation pendant la grossesse?
A) L'alprazolam (Xanax)
B) Lithium
C) Bupropion (Zyban)
D) Fluoxétine (Prozac)
E) Paroxétine (Seroxat)
104 | Which of the following features is always present in a patient

with deliium?

Agitation
Hallucination
Disorientation
Impaired attention
Memory loss

moQwp

Laquelle des caractéristiques suivantes est toujours présente
chez un patient avec le délire?

A. Apitation

B. Hallucinations

C. Désorientation

D. Attention atfaiblies

E. La perte de mémoire
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Habitual abortion can result from all of the following causes
EXCEPT:

A- Cervical incompetence

B- Hormonal dysfunction

C- Chromosomal abnormalities

D- Bicornuate uterus

E- Subserous myomas

L'avortement & répétition peut résulter de toutes les causes
suivantes SAUF:

A- incompétence du eol de l'utérus

B- Dysfonction hormanale

C- Anomalies chromosomiques

D- Utérus bicorne

E- myomes sous séreux
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106 | Women who use low-dose estrogen oral contraceptives have | . ilfiie ja Ll 55y dan pile praded il 3l
o .
a 50% lower nisk of cancer of the Ol g Sl 050+ Gum jma ¢S5 O g sl
A) breast .
B) cervix X
C) head and neck U -A
D) lung sl -B
E) ovary Silly Gl -C
- e L Ll D
Les fernmes qui utilisent des contraceptifs d'eestrogéne a
faible dose par voie orale ont un risque 50% plus faible de el F
cancer
A) du sein
B) du col
C) de la téte et du cou
D) du poumon
E) de l'ovaire
107 | A 65-year-old man complains of difficulty swallowing solid

food. A barium-swallow demonstrates a nearly constricting
lesion of the proximal thoracic esophagus. What is the next
diagnostic test?

CT scan of the chest

Esophageal manometry

Ultrasound abdomen

Upper endoscopy

Arteriogram

moowe

Un homine de 65 ans se plaint d’une dysphagie pour les
aliments solides. Une gorgee de baryun1 montre une lésion
présque obstructive I'eesophage thoracique proximat. Quel
est le test diagnostic suivant?

A. Le scanner du thorax

B. La manométrie oesophagienne

C. Echographie de l'abdomen

D. Endoscopie digestive haute

E. Artériographie
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Initia] treatement of hypercalcemia secondary to metastatic
cancer is

A) Calcitonin-salmon subcutaneously

B) Pamidronate disodium by intravenous infusion

C) Normal saline intravenously

D) Furosemide intravenously

E) Parathyroid hormone extract subcutaneously

Le traitement initial de I'hypercalcémie secondaire 4 un
cancer metastatique est

A) La calcitonine de saumon sous-cutanée

B) Le pamidronate disodique par perfusion intraveineuse
C) Sérum salé physiologique voie intraveineuse

D) Furosémide par voie intraveineuse

E) Extrait de I'hormone parathyroidienne par voic sous-
cutanéc
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109 | Which one is the most likely cause of a 20 year old’s woman W _ae 3l al dic Laga 5 Yl ga GRS e g
dysuria with negative urine culture? e e s . s el ¥
A) Escherichia coli e Dl g0 dﬁf - "” o : '.
B) Chlamydia trachomatis LA LS -A
C) Candida albicans el ol jvdl B
D) Staphylococcus saprophyticus mll Ciliane -C

Al A giindl ) | -D

Quel est la cause la plus probable de la dysurie d’une femme H Egaghiell 2l 2
de 20 ans avec une culture d'urine négative?
A) Escherichia coli
B) Chlamydia trachomatis
C) Candida albicans
D) Staphylococcus saprophyticus

110 | Which one of the following interventions is most likely to be

successful in a 16 year old girl with anorexia nervosa ?
A) Family-based treatment

B) Adolescent-focused individual therapy

C) Fluoxetine (Prozac)

D) Phenelzine (Nardil)

E) Desipramine (Norpramin)

Laqguelle des interventions suivantes est la plus susceptible
de réussir chez une jeune filie de 16 ans souffrant d'anorexie
mentale?

A) traitement en milieu familial

B) thérapie individuelle axée sur I’adolescent

C) La fluoxétine (Prozac)

D) phenelzine (Nardil)

E) Désipramine (Norpramin)
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Elevated angiotensin converting cnzyme is scen in:
Tuberculosis

Leprosy

Sarcoidosis

Lymphoma

All of the above

moOwEs»

L'enzyme de conversion est augmenté est dans:
A. La tuberculose

B. La lépre

C. La sarcoidose

D. Le lymphome

E. Toutes ces réponses sont justes

@M@Wlwﬁw\" E_);u.'i‘.'itm_)?'l ol

Jaddh el A

Aud B

e C

Lo D

iameaedcl LIS E

112

A 55-year-old woman who has hypertension, hyperlipidemia,
and osteoarthritis of the knees develops acute gout and is
found to have hyperuricemia. Discontinuaticn of which one
of the following medications may improve her
hyperuricemia?

A) Hydrochlorothiazide

B) Losartan

C) Metoproiol

D) Simvastatin

E) Acetaminophen

Une femme de 35 ans qui a de 'hypertension, de
I'byperlipidémie et une ostéoarthrite des genoux, développe
la gouttc aigué et se trouve a avoir une hyperuricémie.
L’arret de quel des médicaments suivants peut améliorer son
hyperuricémic?

A) hydrochlorothiazide

B) losartan

C) Le métoprolol

D) la simvastatine

E) L'acétaminophéne
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Laberatory findings in Hemolytic-Uremic Syndrome include
all the following except:

A. elevated Haptoglobin

B. elevated Reticulocytes

C. elevated Bilirubin

D. Coombs’ test negative (except S. Pneumoniae)

E. elevated Urea + elevated Creatinine

Les résultats de laboratoire dans le syndrome hémolytique et
urémique incfuent tout ce qui suit, sauf:

A. elevation de I’ Haptoglobine

B. elevation de Réticulocytes

C. elevation de Bilirubine

D. Test de Coombs négatif (a l'exception de S.

pneumoniae)

E. elevation d’Urée + elevation de Créatinine
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114 | Which one of the following is most commonly implicated in | aGlal Cigily 8 Lalasial SYI o 3000 35001 (e i)
interstitial nephritis? ? Il
A) NSAIDs L )

B) ACE inhibitors Ly i e gl Dldliae A
C) Diuretics Llall (e 5223 5 p2e8 Claiia -B
D) Corticosteroids Gl C
E) Antibiotics Mg f S ) S -D
Lequel des medicaments suivants, est le plus souvent g Slilas B
impliqué dans la néphrite interstitieile?

A) Les AINS (antiinflamatives non stéroidiens)

B) inhibiteurs de 'ECA (enzyme de conversion de

I’angiotensine)

C) Les diurétiques

D) Les corticostéroides

E) les antibiotiques

115 | A painful thrombosed external hemorrhoid diagnosed within sy alpall 5 A3l Lo AN pulall RGN 2 Sladl )
the first 24 lhours a.ftgr occurrence is ideally treated by L calpin e el TE gl JA adt
A) appropriate antibiotics
B) office banding ebie g dbas -A
C) office cryotherapy Bl i day 0 -B
D) thrombectomy under local anesthesia Bl 8 3l Aates ‘-C
E) total hemorrhoidectomy sl it cand 5 il il D)
Une hémorroide externe douloureuse thrombosée JalS gl Jlaiind -E
diagnostiquée dans les 24 premiéres heures aprés l'apparition
est idéalement traitée par
A) des antibiotiques appropriés
B) ligature dans votre clinique
C) Cryothérapie dans votre clinique
D) thrombectomie sous anesthésie locale
E) hémorroidectomie totale .

116 | An asymptomatic 35-year-old woman has a family history of B g L) il el e S5 Y Lale T0 s _gas 3 al

hypothyroidism and a TSH level of 7.6 uU/mL (I¥ 0.4-5.1)
and a free T4 level within the normal range.

Which one of the following is most likely diagnosis?

A) A euthyroid state

B) Primary hyperthyroidism

C) Secondary hyperthyroidism

D) Subelinical hypothyroidism

E) Overt hypothyroidism

Une femme de 35 ans, asymptomatique, a des antéceédents
familiaux d'hypothyroidie et a un taux de TSH de 7,6 uU/
mL (N 0,4 4 5,1) et un taux de T4 libre dans les limites
normales.

Lequel des énoncés suivants est le diagnostic le plus
probable?

A) Un état euthyroidien

B) L'hyperthyroidie primaire

C) I'hyperthyroidie secondaire

D) I'hypothyroidie infraclinique

E) I'hypothyroidie patente
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117 | A 42-year-old man with marked ascites is being treated for | Al ;a5 5 sale ebuiid o ey Lale £Y o0 (_};.j
hepatic encephalopathy secondary to alcoholic cirrhosis. vy . el -
W}P;at is the r}r)mst 1?1(61;: acid-baserz\bnormality found in this L '“"jP.S S5 ol 5 g2 e d)—t&\_m
patient? o b 53l Lo i SN (g 5l — punanll 3500

A. Normal anion-gap metabolic acidosis £ L palt 12
B. Metabolic alkalosis Al Dnbas 330 L2 5 a0 e (M) Guimant A
C. Anion-gap metabolic acidosis iy 8 B
D. Resp.Lratory all_calos?‘ls b &g o 8585 gt (g0 (iman3 .C
E. Respiratory acidosis .
Aaatids 8 D
Un homme age de 42 ans avec une ascite marquee est traite il rmead B
pour une encephalepathie hepatique secondaire a une
cirthose alcoolique. Quelle est 'anomalie acide base la plus
probablement rencontree chez ce patient
A. Acidose metaboligue avec un trou anionique normal
B. Alcalose metabolique
C. Acidose metabolique avec un trou anionique
D. Alcalose respiratoire
E. Acidose respiratoire
118 | Chronic use of Omeprazole is associated with which one of

the following?

A) A decreased rate of hip fracture

B) Decreased vitamin B12 absorption

C) A reduced likelibood of pneumonia

D) A reduced likelihood of Clostridium difficile colitis
E) An increased likelihood of iron deficiency anemia

L'utilisation chronique de l'oméprazole est associé avec
lequel des suivants?

A) Une diminution du taux de fracture de la hanche

B) Diminution de I'absorption de vitamine B12

C) Une probabilité réduite d'une pneumonie

D) une probabilité réduite de colite 3 Clostridium difficile
E) Une probabilité accrue de l'anémie ferriprive
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A 60-year-old male has a 20-year history of hypertension and
suffered a small lacunar stroke 10 ycars ago with minor
residual weakness in his right upper extremity. His blood
pressure is 170/98 mm Hg. In addition to lifestyle
modifications, which one of the following is the most
appropriate treatment for his hypertension?

A) An angiotensin receptor blocker

B) A beta-blocker

C) A calcium channel blocker

D} A thiazide diuretic/ACE inhibitor combination

E) No medication

Un homme de 60 ans a une histoire de 20 ans d'hypertension
et a subi un accident vasculaire cérébral lacunaire minime il
ya 10 ans avec une faiblesse résiduelle mincure dans son
member supérieure droit. Sa tension artérielle est 170/98 mm
Hg. En plus des modifications de style de vie, des suivants
quell est le traitement le plus approprié pour son
hypertension?

A) Un antagoniste des récepteurs de l'angiotensine

B} Un béta-bloquant

C) Un inhibiteur du canal calcique

D} Une combinaison de diurétique thiazidique / inhibiteur
de I’enzyme de conversion de l’angiotensine

E) Aucun médicament
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A 38-year-old day-care presents with persistent cold. It
began with a runny nose, malaise, and a slight temperature
elevation up to 37.8°C. She notes that after 2 weeks she is
now experiencing “coughing fits,” which are sometimes so
severe that she vomnits. On examination you note excessive
lacrimation and conjunctival injection. Her lungs are clear.
Which one of the following is the most likely diagnosis?
A) Pertussis

B) Rhinovirus infection

C) Nonasthmatic eosinophilic bronchitis

D) Cough-variant asthma

E) Gastroesophageatl reflux

Une travailleuse de gardene, agee de 38 ans, se présente avec
un rhume persistant. Qui a commencé avec un écoulement
nasal, un malaise, et une légére élévation de la température
jusqu'a 37,8 © C. Elle note que, aprés 2 semaines, elle a
aujourd’hui des quintes de toux, qui sont parfois si graves
qu'elle vomit. Lors de 'examen vous notez un larmoiement
excessif et des conjonctives injectées. Scs poumons sont
clairs.

Lequel des énoncés suivants est le diagnostic le plus
probable?

A) la coqueluche

B) Infection par le rhinovirus

C) Eosinophilique non asthmatique bronchite

D) Asthme & variante de toux

E) Reflux gastro-esophagien
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A 27-year-old woman presents with bloody diarrhea and
abdomina] cramping secondary to Escherichia coli O:157.
Which one of the following is true about the management of
this patient?

A) Levofloxacin prophylaxis should be prescribed to close
contacts

B) Monitor patient liver enzymes

C) Patient is at sk of hemolytic uremic syndrome

D} Infection was most likely acquired from well cooked
hamburger

Une femme de 27 ans se présente avec une diarrhée
sanguilonante et des crampes abdominales secondaire a
I’Escherichia coli O: 157.

Lequel des énoncés suivants est vrai & propos de la prise en
charge de ce patient?

A) La lévofloxacine en prophylaxie doit étre prescrite pour
les gens qui sont en contact intime

B) Surveiller les enzymes hépatiques de la patiente

C) La patiente est a risque de syndrome hémolytique et
urémique

D) L'infection a probablement été acquise & partir d'un
hamburger bien cuit
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122 | A young patient presented to the emergency room with head wdhal G ey s e ) ghall aad I Ll pema
injury. He is conscious with temporal bone fracture on the S N T |
right. Quickly he deteriorated and became comatose with ) rhd o )“S u}h t‘ ".'LJ 3 “'J_f _\.A‘;
right mydriasis. The most probable diagnosis is : s Ao up alla D) 20 (ol Agal) A B2l

A- Acute subdural hematome Jataall o till gl el ABaall a5 pe Ay g 8
B- Extradural hematoma )
(IZ)- irain cor;tusiiﬁn da dlall Ciad g ges a s -A
- Intracerebral hematoma il g & g3 as -B
Un jeune homme se présente aux urgences pour trauma gt o, -C
crinien il est conscient, il a une fracture temporale droite. S gele e a,y D
Rapidement il se détériore avec coma et mydriase droite. Le
diagnostic le plus probable ;
A. Hematome sous dural aigu
B. Hematome extradural
C. Contusion cerebrale
D. Hematome intracerebrale
123 | Which one of the following is most characteristic of

patellofermoral pain syndrome in adolescent females?
A) Posterior knee pain

B) Pain exacerbated by walking on a flat surface

C) Inadequate hip abductor strength

) A high rate of surgical intervention

Lequel des énoncés suivants est le plus caractéristique du
syndrome fémoro-patellaire chez les adolescentes?

A) une douleur postérieure du genou

B) une douleur exacerbée par la marche sur une surface
plane

C) force inadéquate de 1’abducteur de la hanche

D) Un taux élevé de l'intervention chirurgicale
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124 | Which of the following statement about hyperparathyroidism hlzida il Bl dama e REN ) e g
is faie‘?s | | ; £ Gl e
. Serum calcium levels are raise -
B. Serum parathormone levels are raised rtomel) S Sy glse .5 A
C. Bone density is low Bl e Gsep Dy giese o8 )3 B
D. Urinary calcium levels are raised gl
E. Intestinal absorption of calcium is decreased alandl 48S ymid ' .C
Quelle affirmation est fausse dans 1’hyperpara-thyroidie ol ll p st Sy gione g 5 D
primaire : p oSl (5 grall palialialh iy E
A. Le calcium sérique est haut
B. La parathormone sérique est haute
C. La densité osseuse est basse
D. Le calcium urinaire est élevé
E. L’absorption intestinale du calcium est diminuée
125 | A 55-year-old woman requires a laparotomy for ovarian U e sy (g it bl Cake 00 Ly 51
cancer. She has a histgry o_f stable ang.ina. Which of t_he G (5 e (3 Rl Fpimya 5 s Lgpadyimsna
following characteristics is most likely to predict v : _
perioperative ischemic events during her noncardiac surgery S o O g i ISV i I iyl
? TasdEl je Lyidee JMA Aad jally ddapsa 4y il
A. Angina Gla -A
B. More than three premature ventricular contractions AL A A ik lalis M e ST B
(PVCs) per minute .
C. Dyspnea on exertion el i o= -C
D. Tricuspid regurgitation Al S B -D
E. Her age e -E
Une femme agee de 55 ans necessite une laparotomie pour
un cancer ovarien. Elle a une histoire d’une angor stable.
Quelle est parmi les caracteristiques suivantes celle qui va
predire des evenements ischemiques lors de sa chirurgie non
cardiaque
A. Angor
B. Plus que trois extrasystoles ventriculaires par minute
C. Dyspnee a I’effort
D. Regurgitation tricuspidienne
E. Sonage
126 | Signs and symptoms associated with a hydatidiform mole Ay phaadl ool e BT 3 il e 1 LAWY O

include all of the following EXCEPT :
A- First —trimester bleeding
B- A uterus larger than the expected gestational age
C- Hypothyroidism
D- Preeclampsia at 14 weeks gestation
E- Nausea and vomiting

Les signes et symptdmes associés A une moéle hydatiforme
comprennent tous les éléments suivants SAUF:
A- Saignement du premier trimestre
B- Un utérus plus grand que I'dge gestationnel attendu
C- L'hypothyroidie
D- La pré-éclampsie & 14 semaines de gestation
E- Les nausées et les vomissements
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A 50 year old male prescnts with weakness of the lower
extremities. On clinical assessment, among other findings, he
lost the sense of position of the great toe. The most likely
lesion is at the level of the

A. Posterior cord

B. Anterior cord

C. Cauda equina

D. LS5 root

Un patient de 50 ans se présente pour faiblesse aux membres
inférieurs. A I’examen on retrouve entre autre, une perte de
la sensibilité de la position du gros orteil. Son probléme se
situe probablement au niveau :

A. Des cordons postérieurs

B. Des cordons antérieurs

C. De la queue de cheval

D. Delaracine L3
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128 | You receive at your consultation a 75 year-old woman who a2 Y B L) (e 4835 Lale VO A 3]l
is vom1t1ng since 3 days with signs of dehydration. His ol pall e el Caliad i L2)
arterial blood gases showed:
pH 7.45, pCO2 = 45 mm Hg; Bicarbonates = 35 mmol / 1. Vo =lig S Bd) e £0=PCO2 Veto=PH
This is a: coa e /e gl
A- Respiratory alkalosis uandis _A
B- Respiratory acidosis 5 yeant B
C- Metabolic alkalosis e ]

D- Metabolic acidosis s gl -C
E- Mixed alkalosis el (et D
ihbalia,l B
Vous recevez a la consultation une fermme de 75 ans pour des
vomissements depuis 3 jours avec des signes de
déshydratation. Ses gaz du sang montrent:
pH= 7,45; pCO2= 45 mm Hg;Bicarbonates= 35
mmoles/l. Il s'agit d'une:
A- Alcalose respiratoire
B- Acidose respiratoire
C- Alcalose métabolique
D- Acidose métabolique
E- Alcalose mixte
129 | The following is NOT true about Tinea versicolor:

1t is caused by Malassezia furfur

It is maculopapular

It may present as hypopigmented lesions

It involves the chest and back most commonly
It occurs most commonly in cold climates

mo oW

A propos du Tinea versicolor, laquelle des propositions
suivantes est fausse :

A. Elle est causée par Malassezia furfur

B. L’erytheine est maculo-papuleux

C. 1l peut se présenter comime des lésions hypopiginentées
D. Il atteint Ia poitrine et le dos le plus couramment

E. Ii survient le plus souvent dans les climats froids
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| 130 FA 28-year-old male has a midshaft tibial stress fracture.

|

Although he can walk without pain, he cannot run without
pain. The most appropriate treatment at this point includes
which one of the following?

A} A short leg walking cast

B) A non—weight-bearing short leg cast

C) A non—weight-bearing long leg cast

D) An air stirrup leg brace (Aircast)

E) Low-intensity ultrasonic pulse therapy

Un homime de 28 ans a une fracture de stress de la diaphyse
tibiale. Bien qu'il ne puisse courir sans douleur, il peut
marcher sans douleur. Le traitement le plas approprié a ce
stade comprend:

A) Platre court de la jambe

B) Platre court de la jambe sans port de poids

() Platre long de la jambe sans port de poids

D) Une attelle (Aircast)

E) la thérapie d'impulsions de faible intensité par ultrasons

Jan doury 2 solen) Sl Lo YA o e oy
Y call 50 e O galalion 40l (10 0 Ry o gaidalh
ol B AaDa JEY! Anfaall o) A (3 S M 4Ky
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131 | The most accurate and definitive documentation of the fetal oaindtslad Gy 48l @ Ll deaad ol 2%
life is made by: - ity
A- Fetoscope _ .
B- Leopold maneuver caindl JUia -A
C- B-scanner Apsds, e -B
D- Real-time scanner Qs (Fo s ik e -C
E- Doppler ultrasound T (e of 5 5aa b e =D
. : . . Spall Gois gy -E
La documentation la plus précise et définitive de la vie
fetale est faite par:
A- Un fetoscope
B- manceuvre de Léopold
C- B-scanner
D- scanner en temps réel
E- Doppler & ultrasons
132 | In case of acute headache presenting to the emergeney room.

The first thing to do :
A. CT Brain
B. Brain MRI
C. Assessment for nuechal rigidity
D. Fundoscopy

Devant une cephalée aigue a I'urgence le premier gesie 4
faire :

A. CT. scan cerebral

B. IRM cerebral

C. Recherche de raideur de nuque

D. Fond d’ceil
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For normal term infants, the recommended current practice is
to introduce solid foods into the diet at what age?

A) 24 weeks

B) 2-3 months

C) 4-6 months

D) 7-9 months

E) 1 year

Chez les nourzissons 4 terme, la pratique recommandée
actuelle est d'introduire des aliments solides dans la diéte a
quel age?

A} 2-4 semaines

B) 2-3 mois

C) 4-6 mois

D) 7-9 mois

E) 1 an
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Marked eye pain on eye movement but without redness
suggests that pain is caused by

A) an intracranial process

B) an ocular condition

C) a retinal problem

D} an orbital problem

E) an optic nerve problem

Une douleur oculaire marquée au mouvement d’un oeil, mais
sans rougeur suggére que la douleur est causée par

A) un processus intracranien

B) une affection oculaire

C) un probléme de rétine

D) un probléme orbitaire

E) un probléme du nerf optique
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Breastfeeding a full-term, healthy infant is contraindicated
when which one of the following maternal conditions is
present?

A) Chronic hepatitis B infection

B) Seropositive cytomegalovirus carrier state

C) Current tobacco smoking

D) Active Herpes simplex viral lesions on the breasts

E) Undifferentiated fever

Allaiter un nourrisson né a term et en bonne santé est contre-
indiquée lorsque I'une des conditions suivantes est présente
cbez la mere

A) une hépatite B chronique

B) Etat Séropositif 4 cytomégalovirus

C) le tabagisme actuel

D) Herpes simplex actif avec 1ésions virales sur les seins

E) une fiévre indifférenciée
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Among the following conditions, which one is a
haemaglobinopathie?

A. G6PD deficiency

B. Von Willebrand disease

C. Spherocytosis C

D. Sickle cell disease

E. None of the above

Parmi les conditions suivantes, laquelle est une
hemaglobinopathie?

A, Le Déficit en G6PD

B. La Maladie de Willebrand

C. La Sphérocytose C

D. La Drépanocytose

E. Toutes les réponses sont fausses

Al Clas 8 JMc) g Lgie (1 il SV e
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137 | All of the following statements regarding acute tonsiilitis are | Zaa.a slall (5 81l Lol 08 < jlall JS
true except: . ' i e
A. Can be caused by viruses as well as bacteria. " o
B. Enlargement of the tonsil with erythema and pus along Loty Ay o Dbl s 055 Ol LS -A
with high fever is a definite confirmation of a bacterial e g
infection. , , 8l ms gy Jaad gad il pduzai )l -B
C. Streptococcus carrier state should be treated only in i ol e 4S5 8 dais
special circumstances. "’Aj” P o : ) -

D. Maybe complicated by otitis media and sinusitis. bl ) g Al ) Sl Jalaldi Alls f -C
Ladd Aala &L.;: _’1 ‘.,a
T_outes les propositions suivantes concernant l'amygdalite g e i liima Lgna Jeang O (Sas D
aigué sont vraies, sauf: - - .
d . o . Ayt adi gl y e gl 3Y)
A. Peut étre causée par des virus ainsi que les bactéries. el ety o
B. Le gonflement de I'amygdale avec érythéme et présence
de pus et une forte fievre confirment une infection
bactérienne.
C. Les porteurs du Streptocoque ne doivent étre traités que
dans des circonstances spéciales,
D-Peut se compliquer d'une otite moyenne et d’une sinusite.
138 | Adrenal incidentaloma is usually a :

A. Pheochromocytoma

B. Hyperaldosteronisme adenoma
C. A cortical cancer

D. Non secreting adenoma

E. None of the above

L’incidentalome surrénalien est habituellement :
Un pheochromocytome

Adénome avec hyperaldostéronisme
Cancer de la zone corticale

Adénome nonsécrétant

Aucun des précédents
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139 | The occurrence of menstruation is dependent e La AUl el gald JE e Giminll & gan 2aday
[t e llowg s EXCerT 5 e
- IC-TEICas1IN e
, * A g piiad! | dada Adsiul -
B- An endometrium responsive to sex steroids L B

C- Gonadotropins 2 Cilga s -C
D- Patent fallopian tubes oM il a3 e D
E- Ovarian steroidal hormones Ao g yited) Lanall Cliga s -F

L'apparition de la menstruation est dépendante de tous les
facteurs suivants SAUF:

A- Hormone hypothalamique libérantes

B-Un endométre sensible aux stéroides sexuels
C-Gonadotrophines

D-Trompes de Fallope perméahles

E-Hormones ovariennes stéroidiennes

140 | Indications for a cesarean section include all of the following | 1ac Lo b Lo JS a4y ead dlac ¢l jal el 50
EXCEPT :

A- Previous cesarean section

a4 3 dalac -
B- Failed forceps delivery Ak Ay i iy A

C- Fetal distress bl 3 Js -B
D- Cervical cerclage ibia 38l -C
E- Cord prolapsed pa M Gashs D
- | G dll 5 B
Les indications pour une césarienne comprennent tous les
suivants SAUF:
A- Une césarienne précédente
B- Echec de ’accouchement par forceps
C- Détresse foetale
D- Cerclage du col utérin
E- Procidence du cordon
141 | Defects in corpus luteum function may be demonstrated by paaall Al 5 3 o gpadl 386 Sle Jeaad o) Sy
all the following EXCEPT : o b bl JS iaal)

A- Basal body temperature

. . agaclalt 3 )y d -
B- Endometrial biopsy and histologic dating faelill gl 8l a0 A

(- Measurement of serum progesterone levels s F2 0y iy e 5a -B
D- Determination of the length of the luteal phase all g i syl Dl pinee il -C
E- Measurement of serum estrogen levels $oa¥l skl sae i D

. . . bl pa sy Y e i -E
Des défauts dans la fonction du corps jaune peut étre

démontrée par toutes les suivantes, SAUF:

A.La température basale du corps

B.La biopsie de I'endométre et datation histologique
C.La mesure des niveaux sériques de progestérone
D.Détermination de la longueur de la phase lutéale
E.Mesure des niveaux d'oestrogéne sériques
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When prescribing an inhaled corticosteroid for control of
asthma, the risk of oral candidiasis can be decreased by
A) rinsing the mouth after each administration

B) limiting use of the inhaled corticosteroid to once daily
C) adding nasal fluticasone propionate

D) adding montelukast

E) adding salmeterol

Lors de la prescription d'un corticostéroide inhalé pour le
contrdle de 'asthme, le risque de candidose orale pent étre
diminuée par

A) leringage de la bouche aprés chaque administration

B) limitation de 'utilisation de la corticothérapie inhalée &
une fois par jour

C) I’addition de fluticasone nasale

D) l'addition de montelukast

E} l'addition de salmétérol
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A 55-year-old woman presents with generalized weakness
and a history of poorly cortrolled hypertension despite use of
full dose of hydrochlorothiazide,lisinopril, amlodipine and
doxazosin.

Her blood pressure is 165/105 mm Hg, with grade 2 retinal
changes and a serum potassium level of 3.1 mmeol/L (N 3.5-
5.5).

What is the most likely diagnosis in this patient?

A) Chronic renal failure

B) Sieep apnea

C) Hyperaldosteronism

D) Hyperthyroidism

E) Renal tubular acidosis

Une femme de 55 ans presente avec une faiblesse généralisée
et des antécédents d'hypertension mal contrlée malgré
l'utilisation de la dose compléte de I'hydrochlorothiazide, le
lisinopril, 'amlodipine et la doxazosine.Sa pression artérielle
est 165/105 mm Hg.elle a de modifications grade 2 de la
rétine et un niveau de potassium sérique de 3,1 mmol / L (N
3.545.5).

Quel est le diagnostic le plus probable chez ce patient?

A) Insuffisance rénale chronique

B) L'apnée du sommeil

C) Hyperaldostéronisme

D) L'hyperthyroidie

E) L'acidose tubulaire rénale

)1 3 g ale s G 4S5 Lile 90 L jaz 5 sl
ALldS Ao o ahadiad e et ML adle panis i b
G sbal e s bl e 5 4iS 5 0 e
aa i) ae V2 0/110 adll i Gauy Sl sy
hma p sl gy (5 ey ¥ AS I e LS00 B Gl s
pann il o le (0:0-V 0 padall) 1/ 5e Glle ¥
S pall 13¢] Loy 55 SISY!

(an 5 S gl -A

ol i) g1l B

Gl i C

Sl bt i 2D

S g anns -E




144

In chronic subdural hematoma, one is wrong :
A. more frequent at extreme ages
B. can mimic any neurological disease
C. increase by osmosis
D. increase by bleeding between the membranes

Un hematome sous dural chrenique (une est fausse)
A. plus frequent aux dges extremes
B. peut mimer n’importe quelle maladie neurologique
C. grandit par osmose
D. grandit par saignement entre les membranes
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A 67 year-old, is treated for diabetes. hypertension and
dyslipideinta. He regularly consumes 4-5 drinks per day.
Since July 2008, he became depressed after the death of his
only son; he eats little and merely a piece of chocolate,
vegetables and potatoes. Tonight, he presented to the
emergency room with diplopia, disorientation and
nystagmus. The rectal temperature is 37 °C; his BP 120/80
mmHg and his pulse 85/mn. What is your next step?

A-1V hypertonic dextrose

B-Cerebral CT scan

C-Lunbar Puncture.

D-Injection of 100mg of thiamine IV

E-Give him a prescription of multivitamin B

Mr G.B., dgé de 67 ans , est diabétique, hypertendu et
dyslipidémique sous traitement. Il consomme reguliérement
4 4 S verres d'alcool par jour. Depuis Juillet 2008, il est
devenu dépressif suite au décés de son fils unique; il mange
peu et se contente d'un morceau de chocolat, de légumes et
de pommes de terre cuits. Ce soir, aux urgences, il présente
une diplopie, une désorientation et un nystagmus. Sa
température rectale est 4 37°C; sa T.A 4 120/80 munHg et son
pouls a 85/mn. Quelle est votre CAT ?

A- Glucosé hypertonique IV

B- Scanner cérébral et fond d'ceil

C- Ponction lombaire.

D- Injecter 100mg de thiamine en IV

E- Lui donner une ordonnance de

multivitamines B
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We can find osteoblastic bone metastasis in all except one
pathology :

A. Prostate adenocarcinoma

B. Paget disease

C. Over absorption of Fluoride

D. Breast cancer

E. Bladder carcinoma

On retrouve des lesions osseuses métastatiques
ostéoblastiques dans toutes ces affirmations sauf une :
A. Adenocarcinome de la prostate
B. Maladie de Paget
C. Absorption excessive de fluore
D. Cancer du sein
E. Cancer de la vessie
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Which of the following is not an indication for
adenoidectomy alone?

A. Chronic nasal infection (chronic adenoiditis)

B. Chronic sinus infections that have failed medical
management

C. Recurrent bouts of acute otitis media

D. Recurrent otorrhea in children with tympanostomy tubes
E. Recurrent pharyngotonsillitis

Lequel des énonces suivants n'est pas une indication pour
une adénoidectomie seule?

A infection nasale chronique (adénoidite chronique)

B- Infections chroniques du sinus qui n'ont pas été prise en
charge médicalement

C- Episodes récurrents d’otite moyenne aigué

D- otorrhée récidivante chez les enfants avec des tubes de
tympanostomie

E- pharyngite récurrente
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All of the following procedures are appropriate for
evaluation of the endometrial cavity EXCEPT:

A- Laparascopy

B- Endometrial biopsy

C- Hysteroscopy

D- Endometrial culture

E- Hysterography

Toutes les procédures suivantes sont appropriées pour
I'¢valuation de la cavité utérine, SAUF:

A laparoscopie

B-biopsie de I'endométre

C-hystéroscopie

D- culture endométriale

E-hystérographie
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A 65-year-old man presents to the emergency department
with sudden onset of left retroperitoneal pain. He is 1.75 m
in talt and weighs 86.2 Kg. Physical examination reveals his
blood pressure to be 85/45 mm Hg, and a pulsatile mass in
the abdomen is palpated. The pathogenesis of this patient’s
disease ts most closely related to which of the following?
Hypertension

Atherosclerosis

Elastic tissue fragmentation

Immune complex-mediated inflammation
Vasculitis secondary to syphilis

mOOw

Un homme 4gé de 65 ans se présente aux urgences pour une
apparition brutale d'une douleur rétropéritonéale gauche. 1!
mesure 1,75m et pése 86.2kg. L'examen physique révele que
sa tensjon artérielle est & 85/45mmHg et une masse pulsatile
est palpée au niveau du 1’abdomen. La pathogénése de ta
maladie chez ce patient est étroitement reliée a laquelle des
suivantes :

A. Hypertension

B. Atherosclérose

C. Fragmentation du tissu élastique

D. Inflammation par I’intermédiaire de complexes

immuns
E. Vasculite secondaire a une syphilis
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Which one of the following patients should be advised to
take aspirin, 81 mg daily, for the primary prevention of
stroke?

A) A 42-year-old man with a history of hypertension

B) A 72-year-old woman with no chronic medical conditions
C) An 8l-year-old man with a history of depression

D) An 87-year-old woman with a history of peptic ulcer
disease

Lequel de ces patients suivants doivent étre avisés de prendre
de I'aspirine, 81 mg par jour, pour la prévention primaire de
I'AVC (accident vasculaire cerebral) ?

A) Un homme de 42 ans avec des antéceédents
d'hypertension

B) Une femme de 72 ans sans conditions medicales
chroniques

C) Un homme de 81 ans avec des antécédents de dépression
D) Une femme de 87 ans avec une histoire d'ulcére gastro-
duodénal
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A 35 y.o. previcusty healthy woman dies suddenly and
unexpectedly. At autopsy, one of her cardiac valves
demonstrates attenuation of the chordae tendineae, with
rupture of one of the chordae. On microscopy, one of the
mitral leaflets shows myxomatous change. The most likely
cause of death is:

Carcinotid heart syndrome

Mitral valve prolapse

Rheumatic heart disease

Infective endocarditis

Acute myocardial infarction

moawe

Une temme de 35 ans, auparavant en bonne sanié meurt
subitement et de fagon inattendue. A P'autopsie, I'une de ses
valves cardiaques démonitre l'atténuation du cordage, avec
une rupture de l'une des cordes. Au microscope, l'un des
feuillets mitraux montre un changement myxoide. La cause
la plus probable de la mort est :

A. Syndrome cardiopathie carcinoide

B. Prelapsus de la valve mitrale

C. La cardiopathie rhumatismale

D. L'endocardite infecticuse

E. Infarctus aigu du myocarde
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A 75-year-old presents with puffiness of the face, arms and
shoulders associated with a bluish to purple discoloration of
the skin. In addition, he complains of dizziness, shortness of
breath, and cough. He has a 35 pack —year history of
smoking. Physical examination reveals clubbing of the
fingernails, emphysematous chest and distended neck veins.
The pathogenesis for this patient’s findings most likely
results from which one of the following disorders?

Primary lung cancer

Pericardial effusion

Sclerosing mediastinitis

Polycythemia rubra vera

Right ventricular failure

moawe

Un homme age de 75 ans se presente avec une boursouflure
de 1a face, des bras et des epaules associc a une decoloration
bleuatre et viclacee de la peau. En plus il se plaint de
vertiges, essouflement et toux. Il a une histoire de tabagisme
a 35 paquets par an. L’examen physique revele un
hippocratisme digital, un thorax emphysemateux et des
veines du cou distendues. La pathogenese de ce tableau chez
ce patient resultent le plus probablement de laquelle des
suivantes :

Cancer pulmonaire primitive

Epanchement pericardique

Mediastinite sclerosante

Polycythemie rubra vera

Insuffisance ventriculaire droite

moawy
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Concerning systemic lupus erythematosus (SLE), all of the
following propositions are true, except:

A. It causes a characteristic "butterfly rash"

B. Is more common in males

C. Anti-nuclear antibodies are usually present

D. Maternal SLE can cause heart block in the neonate

E. Possibility of pericardial effusion

A propos du Lupus érythémateux disséminé (LED), toutes
les propositions suivantes sont justes, a l'exception:

A. Elle provoque une "éruption cutanée en papillon»
caractéristique

B. Elle est plus fréquente chez les garcons

C. Les anticorps anti-nucléaires sont habituellement présents
D. LED maternelle peut causer un bloc cardiaque du
neuveau-né

E. Possibilité d’une péricardite
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A 42-year-old woman is in the ICU immediately following
removal of a left adrenal pheochromocytoma. Her blood
pressure is 80/40mmHg. The most appropriate treatment of
the patient’s hypotension is which of the following?

A. Phenoxybenzamine

B. IV bolus of lactated ringer selution

C. Epinephrine

D. Phenylephrine

Une femme agee de 42 ans est admise dans |'unite des soins
intensifs immediatement apres 1’ablation d’un
phecchromocytome surrenalien gauche. Sa tension arterielle
est a2 80/40 mmHg. Quel est le traitement le plus approprie de
I’hypotension chez ce patient

Phenoxybenzamine

Solution de lactate Ringer en bolus i.v

Epinephrine

Phenylephrine

Cowpy
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A 28-year-old man who was in an automobile accident is
brought to thc emergency department by paramedics. The
patient is conscious. Clinical examination reveals no
sensations below the level of the umbilicus and absent
superficial and deep tendon reflexes. Which of the following
would be an expected finding in this patient?

A. Hypertension and tachycardia

B. Hypotension and bradycardia

C. Hypertension and bradycardia

D. Hypotension and tachycardia

E. Normal blood pressure and normal pulse rate

Un homme age de 28ans qui a eu un accident d’automobile
est amene aux urgences par les secouristes. Le patient est
conscient. L’examen revele I’absence de sensation au-
dessous de I’ombilic et une absence des reflexes superficiels
et profonds. Quelle est parmi les propositions suivantes celle
que vous attendez & trouver chez ce patient :

hypertension et tachycardie

hypotension et bradycardie

bypertension et bradycardie

hypotension et tachycardie

tension arterielle normale et un pouls normal

moOw >
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Follow-up of the management of a hydatidiform mole should
routinely include all of the following EXCEPT :
A- Human choronic gonadotropin level determinations
B- Pelvic examinations
C- Contraception
D- Chest films
E- Chematherapy

Suivi de la gestion d'une méle hydatiforme devraient
systématiquement inclure tous les éléments suivants SAUF:
A- une détermination du taux de gonadotrophine
chorionique
B- examen pelvien
C- La contraception
D- Radiographie des poumons
E- Chimiotherapie
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157 | A 49-ycar-old woman undergoes surgical resection of a Juaiiny dgal ja Blee 5 ns lle £9 1 jee 3l
malignancy. The family asks about the prognosis. The . A L e Al -
histo%:ithofogy is availa)éle for review. FOII'J wirilch of the u—'-‘“*l"d—‘l-’“f‘_ O ¥ o el _L_i]Ld = TIJJ
following malignancies does hitologic grade best correlate 0553 Ll ol )WV n gl 3 Byl s
with prognosis? Y ae dati ) ] ailh s all

A. Lung cancer Al ey -A
B. Melanoma i ps -B
C. Colonic adenocarcinema e ditk
D. Hepatocellular carcinema A ik ye-C
E. Soft tissue sarcoma e
sl il da S e -E
Une femme agee de 49 ans subit une resection chirurgicale
pour une malignite. La famille demande a propos du
pronostic. L histopathologie est disponible. Pour laquelle des
malignites suivantes le grade histologique est en correlation
avec le pronostic
A. Cancer pulmonaire
B. Melanome
C. Adenocarcinome colique
D. Carcinome hepatocellulaire
E. Sarcome des tissus mous

158 | The most important result of the increased number of Glilasll 230 3 2l 00 dpeal ISV Zagiil) o

cesarean sections being performed today is : b Pl 838 b sy T Ay peadl
A- Decreased maternal morbidity ..
B- Decreased maternal mortality el Al e palSY) A
C- Decreased perinatal mortality R
D- Increased maternal mortality 8 5l Aagaalt 5 5l 8 i gl e i) -C
E- Increased use of fetal monitoring FEPPPL PL I I SRR

. e l) R8) pall bkt Syl -F

Le résultat le plus important de I'augmentation du nombre de

césariennes effectuées aujourd'hui est le suivant :
A- Diminution de la morbidité maternelle
B- Diminution de la mortalité maternelle
C- Diminution de la mortalité périnatale
D- Augmentation de la mortalité maternelle
E- Augmentation de l'utilisation du monitorage fetal

159 | You see a 90-year-old male with a 5-year history of

progressive hearing loss. The most common type of hearing
loss at this age affects

A) predominantly high frequencies

B) predominantly mid frequencies

C) predominantly [ow frequencies

D) all frequencies roughly the same

Vous examinez un homme de 90 ans avec une histoire de 5
ans de perte progressive de ['audition. Le type le plus
commun de perte auditive a cet dge affecte

A) les fréquences élevées principalement

B) les fréquences moyennes principalement

C) les fréquences basses principalement

D) toutes les fréquences 4 peu prés les mémes
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160 | Abnormalitics i the cervical mucus may result fromall of | oyl < e ol iphlaa b il sl 25 o)) (S
the following conditions EXCEPT: s hac L AU
A- Colonization of the cervix with cylatoxic organisms ; 3 . 3
B- Uterine retroversion 2t g S gl D pariesn 2525 -A
C- Chronic infection of the cervix M G
D- Previous electrocauterization of the cervix Gl aa el B
E- Antisperm antibodies pa M Bie b e g -C

- . . pa ol Bind Bl (P S S -D
Des anomalies de la glaire cervicale peuvent résulter de _
toutes les conditions suivantes SAUF: Shallidbaa slasl -E
A Une colonisation de col de l'utérus avec des organismes
cylotoxiques
B.Rétroversion utérine
C.L'infection chronique du col de l'utérus
D. Antécédant d’Electrocautérisation du col de l'utérus
E.Anticorps antispermatozoides

lé1 | The empirical treatment of choice for enterococcal b el e Apalia 4l Lie T0 0 g0 )
endocarditis in a 35 year-old man, with mitral in_sufﬁcigncy e e el i Sy i el e
and normal renal function, who is allergic to penicillin, is: ) o )

A. Vancomycin + gentamycin Jasall el gl o Le dpmple B 1S Ak W M e
B. Claforan + Gentamycin 7 adlla 3]
C. Vancomycin + Rifampicin Cpnalila 4 CpeailesSild - A
D. Vancomycin . s
E. Ciproﬂo:acin + Gentamycin Gpapdiia + 808 B
Crpazsaliy ) + Ganla sS8 -C

Le traitement empirique de choix d’une endocardite & Gl 5818 =D
entérocoque chez un jeune de 35 ans, connu allergique & la Ol + Gl i yuu -F
pénicilline, et ayant une insuffisance mitrale et une fonction
rénale normale :

A. Vancomycine + Gentamycine

B. Claforan + Gentamycine

C. Vancomycine + Rifampicine

D. Vancomycine

E. Ciprofloxacine + Gentamycine

162 | Which of the following is NOT an indication to initiate

treatment for chronic lymphocytic leukemia?
A. A lymphocyte count that doubles in less than 6
months
A hemoglobin of 7g/dL
Severe thrombocytopenia
Night sweats
A WBC count of 34,000/mm’

OO

Lequel des énoncés suivants n'est PAS une indication pour
initier le traitement de la leucémie lympboide chronique?
A. Une numération des lymphocytes qui doublent en imoins
de 6 mois

B. Un taux d'hémoglobine 7g/dl

C. La thrombopénie sévére

D. Sueurs nocturnes

E. Une numération des globules blancs de 34.000 / mm3
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A patient with nephrotic syndrome and normal creatinine
clearance, presents with sudden onset of left flank pain, and
hematuria. Laboratory tests show a rapid deterioration of
renal function. Ultrasound demonstrates the left kidney to be
larger than the right. Which of the following is the most
likely diagnosis?

Acute pyelonephritis

Renal artery occlusion

Renal vein thrombosis

Nephrolithiasis

Ruptured renal cyst

monwy

Un patient atteint du syndrome néphrotigue et ayant une
clairance de la créatinine normale, se présente avec
'apparition soudaine d'une douleur au flanc gauche, et une
hématurie. Les tests de laboratoire montrent une
détérioration rapide de la fonction rénale. L'échographie
montre le rein gauche plus grand que le droit. Lequel des
énonces suivants est le diagnostic le plus probable?

A. Lapyélonéphrite aigné

B. occlusion de l'artére rénale

C. thrombose des veines rénales

D. Néphrolithiase

E. Rupture de kyste rénal
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All the following primary malignancies are likely to
produce lytic bone metastases except:

Breast

Lung

Thyroid

Kidney

Prostate

mun®we

Les cancers suivants produisent des métastases osseuse
lytiques sauf :

Sein

Poumon

Thyroide

Rein

Prostate
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165 | Chronic brucellosis may cause all the following except dlae Lo A be S A el Doy il (goyn 8 1
one: ) Qjm Jlast —A
A- Arthropathy iy aladl gl -B
’ B- Osteomyelitis W< , -C
C- Liver granulomas v d\aﬁ-\lt\i: -D
D- Splenomegaly .
E- Hypercalcemia e psdS bp - —E
La brucellose chronique peut présenter tout ce qui suit sauf
une ;
A- Arthropathie
B- Osteomyelite
C- Granulome hépatique
D- Splenomégalie
E- Hypercalcémie
166 A 40-year-old woman is found to have a 3cm, firm, smooth | ASuldie clule 35S lual Ll £+ o yee 3l 4
mass in the upper outer quadrant of the breast. The mass is Al g sledl o JAT a gl 8 e ¥ sl
aspirated, and 10 mL of cloudy green fluid is removed. the emAN) b e Je Vo o)y AKSY Laat
appropriate management at this time is : poas Bl M 8 el janll o L Sl
A. Administration of estrogen . ol oUsel —A
B. Cytologic evaluation of the aspirated fluid thJM L
C. Excision of the cyst ol dai:«.li gt f:uu B
D. Observation only ‘L“‘S-::ﬂd}“‘”;: _g
id -
Une femme 4gée de 40ans présente une masse de 3em
erme, souple, au niveau du quadrant supéroexterne du sein,
La masse est aspirée et on retire 10m] d'un liquide vert
trouble. A ce stade la conduite 4 tenir approprié serait :
A. Administration d’cestrogéne
B. Evaluation cytologique du liguide aspiré
C. Excision du kyste
D. Observation seulement
167 | You are seeing a patient who has end-stage liver disease

with cirrhosis due to hepatitis C. what will be her most
likely cause of death ?

Liver failure

Myocardial infarction

Bleeding varices

Hepatocellular carcinoma

Renal failure

mo oWy

Vous étes entrain de voir un patient qui a une maladie
hépatique terminale avec une cirthose due a I’hépatite C,
quel serait la cause la plus probable de son décés ?
Insuffisance hépatique

Infarctus du myocarde

Saignement des varices oesophagiennes
Carcinome hépato-cellulaire

Insuffisance rénale

MO 0@
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The presence of red blood cell casts in the urinary sediment
is suggestive of:

Acute hemorrhagic cystitis

Glomerulonephritis

Adenovirus cystitis

Acute prostatitis

Pyelonephritis

moaows

La présence de cylindres hématiques dans le sédiment
urinaire suggere :

Cystite hémorrhagique

Glomérulonéphrite

Cystite a Adénovirus

Prostatite aigue

Pyélonéphrite

moow»

£ ol sl B el e oy S S 3pa o |
DAl
a8 A il —A
S Slas Cilgdl B
g Lé_-...a_,_)géi.i\:m gl —C
Mo Sl g g gl D
IS Zay ol gl —E

169

Quelle est I’étiologie la plus probable 4 évoquer devant de
volumineuses adénopathies bilatérales hilaires et
médiastinales asymptomatiques associées d une
conservation de I’état général et 4 un erythéme noueux
chez une femme de 25 ans ?

Tuberculose

Sarcoidose

Lymphome non hodgkinien

Maladie de Hodgkin

Maladie virale

mMoNw

What is the most likely diagnosis in front of bilateral
asymptomatic hilar and mediastinal voluminous
adenopathies associated with good general state and
erythema nodosum in a 25 y.o. female?

Tuberculosis

Sarcoidosis

Non-Hodgkin Lymphoma

Hodgkin’s disease

Viral illness

MmO oW
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The mainstay of treatment of infectious diarrhea is:
Antibiotics

Fluid and electrolyte replacement
Anti-diarrheal agents

Diet advice

Anti-pyretics

moowe

Le traitement standard d’une diarrhée infectieuse est :
Antibiotiques

Remplacement liquidien et electrolyte
Agents anti-diarréiques

Conseil diététique

Anti-pyrétique
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In a patient with a sudden onset of dyspnea, which one of the
following makes a pulmonary embolus more likely?

A) Fever =38.0°C

B) Chest pain

C) Orthopnea

D) Wheezes

E) Rhonchi

Chez un patient avec une apparition soudaine d’une dyspnée,
lequel des suivants fait une embolie pulmonaire soit plus
probable?

A)Fievre > 38,0°C

B) Douleur 2 la poitrine

C) Orthopnée

D) sibilantes

E) riles

172
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A 2-year-old child stumbies, but his mother keeps him from
falling by pulling up on his right hand. An hour later the
child refuses to use his right arro and cries when his mother
tries to move it.

The most likely diagnosis is

A) dislocation of the ulna

B) dislocation of the olecranon epiphysis

C) subluxation of the head of the radius

D) subluxation of the head of the ulna

E) anterior dislocation of the humeral head

Un enfant de 2 ans trébuche, mais sa mére I'empéche de
tomber en tirant sur sa main droite. Une heure plus tard,
l'enfant refuse d'utiliser son bras droit et pleure quand sa
mére essaie de le déplacer.

Le diagnostic le plus probable est

A} luxation cubitale

B} une luxation de {'épiphyse olécranienne

C) la subluxation de la téte radiale

D) une subluxation de la téte cubitale

E) une luxation antérieure de la téte humérale
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- . —
You treat a 65-year-old woman for a clean minor laceration. | el y Cada (5340 (e Cand e Lale 10 ta yae 8l

Her chart reveals that she has received two previous doses of
tetanus toxoid. The last dose was 12 years ago.

Which one of the following is the preferred treatment?

A) Reassurance that her tetanus immune status is adequate
B) Tetanus immune globulin (TIG) and tetanus toxoid (TT)
C) Tetanus toxoid only

D) Tdap

E)DTaP

Vous traitez une femme de 65 ans pour une lacération
mineure propre. Son tableau révéle qu'elle a requ deux doses
d'anatoxine tétanique précédentes. La derniére dose était il ya
12 ans.

Lequel des énoncés suivants est le traitement préféré?

A) L'assurance que son statut immunitaire contre le tétanos
est adéquat

B) Le tétanos immunoglobulines (TIG) et 'anatoxine
tétanique (TT)

C) anatoxine tétanique seulement

D) deaT

E) DCaT
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A 56-year-old male was admitted with chest pain and ST-
elevation in lead II, Il and aVF. The rhythm was sinus
rhythm. BP 75/45 mmHg; PR 40 beats/minute. The
pathophysiology of his hypotension and bradyarrhythmia is?
Hypovolemia

Peripheral blood pooling

Progressive myocardial infarction
Parasympathetic response

Cardiac tamponade

MOOw R

Un homme de 56 ans a été admis pour douleurs thoraciques
et élévation du segment ST dans les dérivations II, IT] et
aVF. Le rythme était sinusal. La pression artérielle = 75/45
mmHg; rythme cardiaque 40 battements / minute. La
physiopathologie de son hypotension et de la bradyarythmie
est?

A. L'hypovolémie

B. stagnation périphérique du sang

C. Infarctus du myocarde progressif

D. Réponse parasympathique

E. Tamponnade
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175 | Which of the following manifestations of systemic lupus G A leall delanll A0 jalbng e gﬂ
;Ly:?eorlii?;ii(SLE) has becn strongly associated with a ¢ Apmnl ¢ gus o S S
A. Discoid rash J . " > A -A
B. Lupus nephritis ol s sl -B
C. Sciatica i) aandl -C
D. Pleuritis Anall gl D
E. BothAandD Obiasaa D&A -E
L aquclle dcs manifestations suivantes du lupus
¢rythématcux disséminé (SLE) a ¢té fortement associéc 4
un mauvais pronostic?
A. éruption discoide
B. La néphropathie lupique
C. sciatique
D. Pleurésie
E.AetD
176 From the following local ocular treatments, which one is b o s AN D all il LY e !

prescribed for acute glaucoma?
Atropine

Pilocarpine
Neosynephrine
Antibiotic

Occlusive dressing

mSoOwx

Parmi les traitements oculaires locaux suivants, quel est
celui qui sera prescrit dans une crise de glaucome aigu ?
Atropine

Pilocarpine

Néosynéphrine

Antibiotique

Pansement occlusif

moOwy>
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|
|

| What is your diagnosis for a child, who does not like to
communicate with others, prefers isolation does not speak
or says words without relational value and in whom
auditory problems have been ruled out by appropriate ENT
exam?

Stuporous state

Mental retardation

Autism

Infantile schizophrenia

Infantile neurosis

Mo 0wy

Quel est le diagnostic que vous évoquez devant un enfant
de 5 ans qui ne communique pas avec le monde extérieur,
semble s'isoler, ne prononce aucun mot ou émet des sons
sans valeur relationnelle et pour qui des troubles auditifs
ont été éliminés par des examens ORL?
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A. un état de stupeur
B. unretard intellectuel
C. un autisme
D. une schizophrénie infantile
E. une névrose infantile
178 Which is the best diagnostic test for typhoid fever? $ Al paall JuadVl 5 pdall el ga e
A, Posit@ve stools culture for Salmonella typhi 380l D salull wad el A
g. gospve blood culture for Salmonella typhi . Adil Spalull dad p2g L5 B
. Positive marrow culture for Salmonelta typhi el M N .
D. Positive Widal serology il S pabull (o S S
E. Four fold rise in Widal serology within one drasll (b Hagd Jlad delis D
week Ue Gbaal Aay ) Jdlad Jelis glis )l LB
.J:;'I_,t_),u.ul d}_’;d..a.a.“ q.io‘_,:wm
Quel est le meilleur test diagnostic pour une fidvre
typhoide?
A. Coproculture positive pour Salmonella typhi
B. Hémoculture positive pour Salmonella typhi
C. Culture de moelle osseuse positive pour
Salmonella typhi
D. Sérologic de Widal positive
E. Augmentation de 4 fois du taux de la sérologie
de Widal en une semaine
179 | The earliest sign of a compartment syndrome is P Ol Aa e 3 )80l 3 YT o
A. The pain on passive motion Uaitadl 48 all 2ic A LA
B. The collapsed peripheral pulse bisall el g4 lyn B
C. The loss of sensitivity oVl aid .C
D. The loss of motricity & a3l 3 s LD

Le signe le plus précoce d’un syndrome compartimental est
A. La douleur au mouvement passif des doigts
B. La disparition du pouls périphérique
C. La perte de sensibilité
D. La perte de motricité
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Indication for calcium supplementation after total
thyroidectomie include all of the following except ;

OO

Circumoral parestheisas
Carpopedal spasm
EKG abnormalities
Stridor

Cat++ < 7.1mp/dl

L’indication d’un traitement de supplementaire en calcium

aprés une thyroidectomie tfotale inclus tout ce qui suit sauf ;

moow

Paresthésies péribuccales
Spasme carpopedal
Anomalies de ’'ECG
Strdor

Ca++ < 7.1mg/dl
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Liste des Réponses Justes Serie C
Du colloguium MEDECINE
Pour la 1ére session 2012

Quest Rep Quest Rep  Quest Rep  Quest Rep  Quest Rep
1B 37 E 73 E 109 B 145 D
2 E 38 C 74 E 110 A 146 E
3D 39 A 75 E 111 E 147 C
4 D 40 C 76 E 112 A 148 A
5E 41 A 77 C 113 A 149 B
6 C 42 E 78 B 114 E 15G B
7 D 43 A 79 B 115 D 151 B
8 C 44 C 80 C 1i6 D 152 &
9 A 45 B 81 E 117 A 1533 B

10 C 46 C 82 B 118 B 154 B
11 E 47 B 83 A 119 D 155 B
12 B 48 E 84 D 120 A 156 E
13 E 49 E 85 D 121 C 157 E
i4 A 50 B 86 B 122 B 158 C
15 C 51 E B7 B i23 C 159 A
16 A 52 B B8 C 124 D 160 B
17 D 53 A 89 A 125 C 161 A
18 C 549 C a0 C 126 C 162 E
19 D 55 D 91 K 127 A 163 C
20 C 56 E 92 B 128 C 164 E
21 C 57 B Q3 E 129 E 165 E
22 A 58 C 94 C 130 D 166 D
23 B 56 B 95 B 121 D 167 C
24 E 60 C 36 E 132 C 168 B
25 D 61 B 97 E 133 C 169 B
26 B 62 C 98 E 134 D 170 B
27 A 63 B 99 B 135 D 171 B
28 B 64 B 100 D 136 E 172 C
29 A 65 B 101 C 137 B 173 D
30 B 66 D 102 C 138 D 174 D
31 B 67 D 103 D 139 D 175 B
32 B 68 A 104 D 140 D 176 B
33 C 69 D 105 E 141 & 177 C
34 D 70 B 106 E 142 A 178 B
35 B 71 D 107 D 143 C 179 A
36 D 72 A 108 ¢ 1449 C 180 D



